
MATHS

BOOKS - VGS BRILLIANT MATHS (TELUGU ENGLISH)

REAL NUMBERS

EXAMPLE

1. Show that every postitive even integer is of the form , and that every

positive odd integer is of the form , where q is some integer.

Watch Video Solution

2q

2q + 1

2. Show that any positive odd integer is of the form 

where q is some integer.

Watch Video Solution

4q + 1 or 4q + 3,

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DF1TWwrQLVUf
https://dl.doubtnut.com/l/_CxijVr2qEpTD


3. Consider the number  where n is a natural number. Check whether

there is any value of n which  ends with the digit zero?

Watch Video Solution

4n

4n

4. Find the HCF and LCM of 12 and 18 by the prime factorization method.

Watch Video Solution

5. Using the above theorems, without actual division, state whether

decimal form of the following rational numbers are terminating or non-

terminating, repeating decimals. (i) 

Watch Video Solution

16

125

https://dl.doubtnut.com/l/_CxijVr2qEpTD
https://dl.doubtnut.com/l/_RFJ5p2XsmiI0
https://dl.doubtnut.com/l/_7dI4COK3LQln
https://dl.doubtnut.com/l/_smoN6yLYyKuk


6. Using the above theorems, without actual division, state whether

decimal form of the following rational numbers are terminating or non-

terminating, repeating decimals. (ii) 

Watch Video Solution

25

32

7. Using the above theorems, without actual division, state whether

decimal form of the following rational numbers are terminating or non-

terminating, repeating decimals. (iii) 

Watch Video Solution

100

81

8. Using the above theorems, without actual division, state whether

decimal form of the following rational numbers are terminating or non-

terminating, repeating decimals. (iv) 

Watch Video Solution

41

75

https://dl.doubtnut.com/l/_3xkHDT8MA6Pq
https://dl.doubtnut.com/l/_BQauemInO5Ly
https://dl.doubtnut.com/l/_b8ZhzcFOkGzo
https://dl.doubtnut.com/l/_JeLWUaUgKSY4


9. Write the decimal expansion of the following rational numbers without

actual division. (i) 

Watch Video Solution

35

50

10. Write the decimal expansion of the following rational numbers

without actual division. (ii) 

Watch Video Solution

21

25

11. Write the decimal expansion of the following rational numbers

without actual division. (iii) 

Watch Video Solution

7

8

12. Show that  is irrational.

Watch Video Solution

√2

https://dl.doubtnut.com/l/_JeLWUaUgKSY4
https://dl.doubtnut.com/l/_QrXlg3SY5mIu
https://dl.doubtnut.com/l/_nFXpKu8yebD2
https://dl.doubtnut.com/l/_pLIbOKFhNhSf


13. Show that  is irrational.

Watch Video Solution

5 − √3

14. Show that  is irrational.

Watch Video Solution

3√2

15. Prove that  is irrational.

Watch Video Solution

√2 + √3

16. Expand .

Watch Video Solution

log
343
125

17. Write  as a single logarithm.2 log 3 + 3 log 5 − 5 log 2

https://dl.doubtnut.com/l/_uh62s14VZATJ
https://dl.doubtnut.com/l/_aCtvDWLvWo6y
https://dl.doubtnut.com/l/_M275ussh46lN
https://dl.doubtnut.com/l/_fdvGCd7H8F2h
https://dl.doubtnut.com/l/_fJkaVh3snbKd


Watch Video Solution

18. Solve 

Watch Video Solution

3x = 5x− 2.

19. Find  if 

Watch Video Solution

x 2 log 5 + log 9 − log 3 = logx.
1

2

20. Find q and r for the following pairs of positive integers a and b,

satisfying a = bq + r. 

Watch Video Solution

a = 13, b = 3

https://dl.doubtnut.com/l/_fJkaVh3snbKd
https://dl.doubtnut.com/l/_ewVN1V6wAAWi
https://dl.doubtnut.com/l/_zODHBgTvHXPO
https://dl.doubtnut.com/l/_HY01zIxtukIz


21. Find q and r for the following pairs of positive integers a and b,

satisfying a = bq + r. 

Watch Video Solution

a = 80, b = 8

22. Find q and r for the following pairs of positive integers a and b,

satisfying a = bq + r: a = 125, b = 5Find q and r for the following pairs of

positive integers a and b, satisfying a = bq + r: a = 132, b = 11

Watch Video Solution

23. Find the HCF of the following by using Euclid division lemma. (i) 50

and 70

Watch Video Solution

https://dl.doubtnut.com/l/_WYlGvx65G8KE
https://dl.doubtnut.com/l/_3tdusBPbzAjq
https://dl.doubtnut.com/l/_RCXuh7hHay2R


24. Find the HCF of the following by using Euclid division lemma. (ii) 96

and 72

Watch Video Solution

25. Find the HCF of the following by using Euclid division lemma. (iii) 300

and 550

Watch Video Solution

26. Find the HCF of the following by using Euclid division lemna 

1860 and 2015

Watch Video Solution

27. Find q and r for the following pairs of positive integers a and b,

satisfying a = bq + r: a = 125, b = 5Find q and r for the following pairs of

https://dl.doubtnut.com/l/_FdjTwGIbiCBr
https://dl.doubtnut.com/l/_rTtzCUFyoOz4
https://dl.doubtnut.com/l/_rTzFWxJp1Ubt
https://dl.doubtnut.com/l/_ixBZMPEC3QTI


positive integers a and b, satisfying a = bq + r: a = 132, b = 11

Watch Video Solution

28. Can you find the HCF of 1.2 and 0.12? Justify your answer.

Watch Video Solution

29. Show that every positive even integer is of the form 2q, and that every

positive odd integer is of the form 2q + 1, where q is some integer.

Watch Video Solution

30. Show that any positive odd integer is of the form 

where q is some integer.

Watch Video Solution

4q + 1 or 4q + 3,

https://dl.doubtnut.com/l/_ixBZMPEC3QTI
https://dl.doubtnut.com/l/_k7M215NoW6h8
https://dl.doubtnut.com/l/_r98W7lLURyUk
https://dl.doubtnut.com/l/_Qc5IhYKQV4kA


31. Use Euclid's division algorithm to find the HCF of (i) 900 and 270

Watch Video Solution

32. Use Euclid's division algorithm to find the HCF of (ii) 196 and 38220

Watch Video Solution

33. Use Euclid's division algorithm to find the HCF of (iii) 1651 and 2032

Watch Video Solution

34. Use division algorithm to show that any positive odd integer is of the

form 6q + 1, or 6q + 3 or 6q + 5, where q is some integer

Watch Video Solution

https://dl.doubtnut.com/l/_joENAiMhXWTe
https://dl.doubtnut.com/l/_Tz4K1bYrzNqD
https://dl.doubtnut.com/l/_sA6Rk5oK5Lsj
https://dl.doubtnut.com/l/_1LIwK5JLlFV9


35. Use Euclid's division lemma to show that the square of any positive

integer is of the form 

Watch Video Solution

3p, 3p + 1.

36. Use division algorithm to show that the cube of any positive integer is

of the form 9 m, 9m + 1 or 9m + 8.

Watch Video Solution

37. Show that one and only one out of n, n + 2 or n + 4 is divisible by 3,

where n is any positive integer

Watch Video Solution

38. If , then what is the relationship between a,b and q in 

 of Euclid division lemma?

r = 0

a = bq + r

https://dl.doubtnut.com/l/_nmrje0dDgRAG
https://dl.doubtnut.com/l/_4JMoTVVnMJiW
https://dl.doubtnut.com/l/_4O0iotnCrgzK
https://dl.doubtnut.com/l/_t4Cp9f8f0WCA


Watch Video Solution

39. Express 2310 as a product of prime factors. Also see how your friends

have factorized the number. Have they done it same as you? Verify your

final product with your friend’s result. Try this for 3 or 4 more numbers.

What do you conclude?

Watch Video Solution

40. Find the HCF and LCM of the following given pairs of numbers by

prime facrtorization. (i) 120,90

Watch Video Solution

41. Find the HCF and LCM of the following given pairs of numbers by

prime facrtorization. (ii) 50,60

Watch Video Solution

https://dl.doubtnut.com/l/_t4Cp9f8f0WCA
https://dl.doubtnut.com/l/_4KTa3TB2G9X5
https://dl.doubtnut.com/l/_89TfeA4bTdOI
https://dl.doubtnut.com/l/_28DudMVgAhUU


42. Find the HCF and LCM of the following given pairs of numbers by

prime facrtorization. (iii) 37,49

Watch Video Solution

43. Show that  cannot end with the digit 0 or 5 for any natural

numbers 'n' and 'm'.

Watch Video Solution

3n × 4m

44. Consider the number  where n is a natural number. Check whether

there is any value of n which  ends with the digit zero?

Watch Video Solution

4n

4n

45. Find the HCF and LCM of 12 and 18 by the prime factorization method.

Watch Video Solution

https://dl.doubtnut.com/l/_A31uyckdaDgM
https://dl.doubtnut.com/l/_rwPG9VchSmd8
https://dl.doubtnut.com/l/_8yuY5UVwHSm5
https://dl.doubtnut.com/l/_zcCCTwCdyIoV


46. Express each of the following numbers as a product of its prime

factors. (i) 140

Watch Video Solution

47. Express each of the following numbers as a product of its prime

factors. (ii) 156

Watch Video Solution

48. Express each of the following numbers as a product of its prime

factors. (iii) 3825

Watch Video Solution

https://dl.doubtnut.com/l/_zcCCTwCdyIoV
https://dl.doubtnut.com/l/_CQh0gEyKbf8J
https://dl.doubtnut.com/l/_SCNDUINMzBE6
https://dl.doubtnut.com/l/_GnXKRPtVOoDs


49. Express each of the following numbers as a product of its prime

factors. (iv) 5005

Watch Video Solution

50. Express each of the following numbers as a product of its prime

factors. (v) 7429

Watch Video Solution

51. Find the L.C.M. and H.C.F of the following integers by the prime

factorization method. (i) 12, 15 and 21

Watch Video Solution

52. Find the L.C.M. and H.C.F of the following integers by the prime

factorization method. (ii) 17, 23 and 29

https://dl.doubtnut.com/l/_3FIOnh4y6SSi
https://dl.doubtnut.com/l/_WoVn5Des3M3Q
https://dl.doubtnut.com/l/_JDOUjzxucwT0
https://dl.doubtnut.com/l/_NNxwZWlmhNeI


Watch Video Solution

53. Find the L.C.M. and H.C.F of the following integers by the prime

factorization method. (iii) 8,9 and 25

Watch Video Solution

54. Find the L.C.M. and H.C.F of the following integers by the prime

factorization method. (iv) 72 and 108

Watch Video Solution

55. Find the L.C.M. and H.C.F of the following integers by the prime

factorization method. (v) 306 and 657

Watch Video Solution

https://dl.doubtnut.com/l/_NNxwZWlmhNeI
https://dl.doubtnut.com/l/_RfZsQtnKHfiP
https://dl.doubtnut.com/l/_uUEqOXWM7gBa
https://dl.doubtnut.com/l/_jQkPWKUX1w4T


56. Check whether  can end with the digit '0' for any natural numbers n.

Watch Video Solution

6n

57. Explain why 

are composite nubmers.

Watch Video Solution

7 × 11 × 13 + 13 and 7 × 6 × 5 × 4 × 3 × 2 × 1 + 5

58. How will you show that  is a

composite numbers ? Explain.

Watch Video Solution

(17 × 11 × 2) + (17 × 11 × 5)

59. What is the last digit of  ?

Watch Video Solution

6100

https://dl.doubtnut.com/l/_mftHpb7pPh8I
https://dl.doubtnut.com/l/_lNfSQfxxWPjJ
https://dl.doubtnut.com/l/_TXAj2s1uCeqG
https://dl.doubtnut.com/l/_e0kJ7w9IzAz8
https://dl.doubtnut.com/l/_Jo2j4tMhimyQ


60. Write the following terminating decimals in the form of

 are co-primes (i) 15.265 


What can you conclude about the denominators through this process ?

Watch Video Solution

p/q, q ≠ 0 and p, q

61. Write the following terminating decimals in the form of  and

p,q are co primes 

0.1255 

Write the denominators in  form

Watch Video Solution

, q ≠ 0
p

q

2n5m

62. Write the following terminating decimals in the form of  and

p,q are co primes 

0.4 

Write the denominators in  form

Watch Video Solution

, ≠ 0
p

q

2n5m

https://dl.doubtnut.com/l/_Jo2j4tMhimyQ
https://dl.doubtnut.com/l/_BdkoS90bbbyl
https://dl.doubtnut.com/l/_oHLAE34EoO4W


Watch Video Solution

63. Write the following terminating decimals in the form of  and

p,q are co primes 

23.34 

Write the denominators in  form

Watch Video Solution

, ≠ 0
p

q

2n5m

64. Write the following terminating decimals in the form of

 are co-primes (v) 1215.8 


What can you conclude about the denominators through this process ?

Watch Video Solution

p/q, q ≠ 0 and p, q

65. Write the following rational numbers in the form of  where q is

of the form  where  are non-negative integers and then write

the numbers in their decimal form. (i) 

p/q,

2n5m n, m

3

4

https://dl.doubtnut.com/l/_oHLAE34EoO4W
https://dl.doubtnut.com/l/_XXJilWloNzXS
https://dl.doubtnut.com/l/_7ztDhVCUMKNf
https://dl.doubtnut.com/l/_Hh1cAm4CXezo


Watch Video Solution

66. Write the denominator of the following rational numbers in 

form where n and m are non-negative integers and then write them in

their decimal form: 

Watch Video Solution

2n5m

7
25

67. Write the denominator of the following rational numbers in 

form where n and m are non-negative integers and then write them in

their decimal form: 

Watch Video Solution

2n5m

51

64

68. Write the denominator of the following rational numbers in 

form where n and m are non-negative integers and then write them in

their decimal form: 

Watch Video Solution

2n5m

14
25

https://dl.doubtnut.com/l/_Hh1cAm4CXezo
https://dl.doubtnut.com/l/_paupB9PeYrIe
https://dl.doubtnut.com/l/_9O0VKCnCF1JS
https://dl.doubtnut.com/l/_GEcRQrLG9cV3


69. Write the denominator of the following rational numbers in 

form where n and m are non-negative integers and then write them in

their decimal form: 

Watch Video Solution

2n5m

80

100

70. Write the folllowing rational numbers as decimal form and find out

the block of repeating digits in the quotient. (i) 

Watch Video Solution

1

3

71. Write the folllowing rational numbers as decimal form and find out

the block of repeating digits in the quotient. (ii) 

Watch Video Solution

2

7

https://dl.doubtnut.com/l/_GEcRQrLG9cV3
https://dl.doubtnut.com/l/_HCDjTr5pOdON
https://dl.doubtnut.com/l/_JNCgmQFPME9a
https://dl.doubtnut.com/l/_kq14zs0Yt0IV


72. Write the folllowing rational numbers as decimal form and find out

the block of repeating digits in the quotient. (iii) 

Watch Video Solution

5

11

73. Write the folllowing rational numbers as decimal form and find out

the block of repeating digits in the quotient. (iv) 

Watch Video Solution

10

13

74. Using the above theorems, without actual division, state whether

decimal form of the following rational numbers are terminating or non-

terminating, repeating decimals. (i) 

Watch Video Solution

16

125

https://dl.doubtnut.com/l/_PoPt4GjeH9os
https://dl.doubtnut.com/l/_rsPP67OFUp3i
https://dl.doubtnut.com/l/_gZv7Dn9gZyuY


75. Using the above theorems, without actual division, state whether

decimal form of the following rational numbers are terminating or non-

terminating, repeating decimals. (ii) 

Watch Video Solution

25

32

76. Using the above theorems, without actual division, state whether

decimal form of the following rational numbers are terminating or non-

terminating, repeating decimals. (iii) 

Watch Video Solution

100

81

77. Using the above theorems, without actual division, state whether

decimal form of the following rational numbers are terminating or non-

terminating, repeating decimals. (iv) 

Watch Video Solution

41

75

https://dl.doubtnut.com/l/_yjMQe40ERIHT
https://dl.doubtnut.com/l/_kMiDYK0MvZL6
https://dl.doubtnut.com/l/_ySb6y8OfdRRU
https://dl.doubtnut.com/l/_e1KAPW3Gccwe


78. Write the decimal expansion of the following rational numbers

without actual division. (i) 

Watch Video Solution

35

50

79. Write the decimal expansion of the following rational numbers

without actual division. (ii) 

Watch Video Solution

21

25

80. Write the decimal expansion of the following rational numbers

without actual division. (iii) 

Watch Video Solution

7

8

81. Write the following rational numbers in their decimal form and also

state which are terminating and which have non-terminating repeating

decimals. (i) 
3

8

https://dl.doubtnut.com/l/_e1KAPW3Gccwe
https://dl.doubtnut.com/l/_WXBVwCOI0p7u
https://dl.doubtnut.com/l/_PEYQI3VHnua5
https://dl.doubtnut.com/l/_TgL86zHPAE17


Watch Video Solution

82. Write the following rational numbers in their decimal form and also

state which are terminating and which have non-terminating repeating

decimals. (ii) 

Watch Video Solution

229

400

83. Write the following rational numbers in their decimal form and also

state which are terminating and which are non-terminating, repeating

decimal. 

Watch Video Solution

4
1

5

84. Write the following rational numbers in their decimal form and also

state which are terminating and which have non-terminating repeating

https://dl.doubtnut.com/l/_TgL86zHPAE17
https://dl.doubtnut.com/l/_hinzyV4QuqDO
https://dl.doubtnut.com/l/_ZYHNI4PTY7Yi
https://dl.doubtnut.com/l/_3ycCIgFuTn04


decimals. (iv) 

Watch Video Solution

2

11

85. Write the following rational numbers in their decimal form and also

state which are terminating and which have non-terminating repeating

decimals. (v) 

Watch Video Solution

8

125

86. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (i) 

Watch Video Solution

13

3125

87. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

https://dl.doubtnut.com/l/_3ycCIgFuTn04
https://dl.doubtnut.com/l/_IoLCv7pPEZmI
https://dl.doubtnut.com/l/_rcLut2tSdb56
https://dl.doubtnut.com/l/_6m0wcCrcbAgG


repeating decimal form. (ii) 

Watch Video Solution

11

12

88. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (iii) 

Watch Video Solution

64

455

89. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (iv) 

Watch Video Solution

15

1600

90. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

https://dl.doubtnut.com/l/_6m0wcCrcbAgG
https://dl.doubtnut.com/l/_S4bZPYdknpWl
https://dl.doubtnut.com/l/_3ynzHuZT5ZCN
https://dl.doubtnut.com/l/_ZiO8XhNeVizp


repeating decimal form. (v) 

Watch Video Solution

29

343

91. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (vi) 

Watch Video Solution

23

23 × 52

92. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (vii) 

Watch Video Solution

129

22.57.75

93. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

https://dl.doubtnut.com/l/_ZiO8XhNeVizp
https://dl.doubtnut.com/l/_nzjWTuNNzc5i
https://dl.doubtnut.com/l/_Y7e8WKEmUgZ5
https://dl.doubtnut.com/l/_kbfGcBUAQYJ6


repeating decimal form. (viii) 

Watch Video Solution

9

15

94. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (ix) 

Watch Video Solution

36

100

95. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (x) 

Watch Video Solution

77
210

96. Write the following rationals in decimal form using 

13

25

https://dl.doubtnut.com/l/_kbfGcBUAQYJ6
https://dl.doubtnut.com/l/_c7Op30dsrL1P
https://dl.doubtnut.com/l/_p6jNzXL43SHk
https://dl.doubtnut.com/l/_0OK1yiYmrxjg


Watch Video Solution

97. Write the following rationals in decimal form using Theorem 1.4 (ii)

Watch Video Solution

15

16

98. Write the following rationals in decimal form using Theorem 1.4 (iii)

Watch Video Solution

23

23.52

99. Write the following rationals in decimal form using Theorem 1.4 (iv)

Watch Video Solution

7218

32.52

https://dl.doubtnut.com/l/_0OK1yiYmrxjg
https://dl.doubtnut.com/l/_6cENApSnDZZN
https://dl.doubtnut.com/l/_bLThxz1SwHS4
https://dl.doubtnut.com/l/_CMMrOhCzpa6S


100. Write the following rationals in decimal form using Theorem 1.4 (v)

Watch Video Solution

143
110

101. Express the following decimals in the form of , and write the prime

factors of q. What do you observe? 43.123

Watch Video Solution

p

q

102. Express the following decimals in the form of , and write the prime

factors of q. What do you observe? 0.120112001120001 .......

Watch Video Solution

p

q

103. Express the following decimals in the form of , and write the prime

factors of q. What do you observe? 43.123

p

q

https://dl.doubtnut.com/l/_TmaQLtIjmAKL
https://dl.doubtnut.com/l/_PFSV2aJZ3953
https://dl.doubtnut.com/l/_GJk4fLX34qTd
https://dl.doubtnut.com/l/_CzYIBY0JN4jh


EXERCISE 1.1

Watch Video Solution

104. Express the following decimals in the form of  , and write the

prime factors of q. What do you observe? 

Watch Video Solution

p

q

0. ¯̄̄¯63

105. Verify the theorem proved above for p= 2, p = 5 and for  = 1, 4, 9, 25,

36, 49, 64 and 81.

Watch Video Solution

a2

1. Use Euclid's division algorithm to find the HCF of (i) 900 and 270

Watch Video Solution

https://dl.doubtnut.com/l/_CzYIBY0JN4jh
https://dl.doubtnut.com/l/_GO4UEDTi5aKN
https://dl.doubtnut.com/l/_HufWkArYX2oo
https://dl.doubtnut.com/l/_CAIKefzUnBNX


2. Use Euclid's division algorithm to find the HCF of (ii) 196 and 38220

Watch Video Solution

3. Use Euclid's division algorithm to find the HCF of (iii) 1651 and 2032

Watch Video Solution

4. Use Euclid division lemma to show that any positive odd integer is of

the form , where q is some integers.

Watch Video Solution

6q + 1 or 6q + 5

5. Use Euclid's division lemma to show that the square of any positive

integer is of the form 

Watch Video Solution

3p, 3p + 1.

https://dl.doubtnut.com/l/_CAIKefzUnBNX
https://dl.doubtnut.com/l/_5QCqcPtZrDlk
https://dl.doubtnut.com/l/_AiiAiAxCE7mI
https://dl.doubtnut.com/l/_qFl3W3ycjbjl
https://dl.doubtnut.com/l/_S4beh3GlWkOb


EXERCISE 1.1(DO THIS)

6. Use Euclids division lemma to show that the cube of positive integer is

of the form  


(OR) 

Show that the cube of any positive integer is of form

, where m is an integer.

Watch Video Solution

9m, 9m + 1 or 9m + 8.

9m or 9m + 1 or 9m + 8

7. Show that one and only one out of  is diviseble by 3,

where n is any positive integer.

Watch Video Solution

n, n + 2 or n + 4

1. Find q and r for the following pairs of positive integers a and b,

satisfying . (i) 

h id l i

a = bq + r a = 13, b = 3

https://dl.doubtnut.com/l/_ySkLzFYgMCDP
https://dl.doubtnut.com/l/_ra0nKE9XE42x
https://dl.doubtnut.com/l/_TW41HYkmWkSq


Watch Video Solution

2. Find q and r for the following pairs of positive integers a and b,

satisfying . (ii) 

Watch Video Solution

a = bq + r a = 80, b = 8

3. Find q and r for the following pairs of positive integers a and b,

satisfying . (iii) 

Watch Video Solution

a = bq + r a = 125, b = 5

4. Find q and r for the following pairs of positive integers a and b,

satisfying . (iv) 

Watch Video Solution

a = bq + r a = 132, b = 11

https://dl.doubtnut.com/l/_TW41HYkmWkSq
https://dl.doubtnut.com/l/_wf1zrXswjSHx
https://dl.doubtnut.com/l/_1DEhGVssEGvT
https://dl.doubtnut.com/l/_FqcyfepreOD6


5. Find the HCF of the following by using Euclid division lemma. (i) 50 and

70

Watch Video Solution

6. Find the HCF of the following by using Euclid division lemma. (ii) 96 and

72

Watch Video Solution

7. Find the HCF of the following by using Euclid division lemma. (iii) 300

and 550

Watch Video Solution

8. Find the HCF of the following by using Euclid division lemma. (iv) 1860

and 2015

https://dl.doubtnut.com/l/_NRctktWbmMCd
https://dl.doubtnut.com/l/_SkBMKGZt5NDb
https://dl.doubtnut.com/l/_C9vnDOu3FNWv
https://dl.doubtnut.com/l/_JA2TvPPIaT0L


EXERCISE 1.1(THINK & DISCUSS)

EXERCISE 1.2

Watch Video Solution

1. Can you find the HCF of 1.2 and 0.12? Justify your answer.

Watch Video Solution

1. Express each of the following numbers as a product of its prime

factors. (i) 140

Watch Video Solution

2. Express each of the following numbers as a product of its prime

factors. (ii) 156

https://dl.doubtnut.com/l/_JA2TvPPIaT0L
https://dl.doubtnut.com/l/_l9xL5sPtU2Ow
https://dl.doubtnut.com/l/_aWQsEOdzCyay
https://dl.doubtnut.com/l/_ow9zKRv3rMmj


Watch Video Solution

3. Express each of the following numbers as a product of its prime

factors. (iii) 3825

Watch Video Solution

4. Express each of the following numbers as a product of its prime

factors. (iv) 5005

Watch Video Solution

5. Express each of the following numbers as a product of its prime

factors. (v) 7429

Watch Video Solution

https://dl.doubtnut.com/l/_ow9zKRv3rMmj
https://dl.doubtnut.com/l/_5x6EXSyoSrBp
https://dl.doubtnut.com/l/_wA7iOx9pdMQB
https://dl.doubtnut.com/l/_Tsi4HIsu3qGT


6. Find the L.C.M. and H.C.F of the following integers by the prime

factorization method. (i) 12, 15 and 21

Watch Video Solution

7. Find the L.C.M. and H.C.F of the following integers by the prime

factorization method. (ii) 17, 23 and 29

Watch Video Solution

8. Find the L.C.M. and H.C.F of the following integers by the prime

factorization method. (iii) 8,9 and 25

Watch Video Solution

9. Find the L.C.M. and H.C.F of the following integers by the prime

factorization method. (iv) 72 and 108

https://dl.doubtnut.com/l/_k6NlzoghWJzh
https://dl.doubtnut.com/l/_SgXgBc7PBqU0
https://dl.doubtnut.com/l/_F8AKdcTUYUXp
https://dl.doubtnut.com/l/_urPCEzRVhLXh


Watch Video Solution

10. Find the L.C.M. and H.C.F of the following integers by the prime

factorization method. (v) 306 and 657

Watch Video Solution

11. Check whether  can end with the digit '0' for any natural numbers n.

Watch Video Solution

6n

12. Explain why 

are composite nubmers.

Watch Video Solution

7 × 11 × 13 + 13 and 7 × 6 × 5 × 4 × 3 × 2 × 1 + 5

https://dl.doubtnut.com/l/_urPCEzRVhLXh
https://dl.doubtnut.com/l/_8grApA60wdk0
https://dl.doubtnut.com/l/_q7U1REvOwH8K
https://dl.doubtnut.com/l/_24RKAujG7I6U


EXERCISE 1.2(THINK & DISCUSS)

EXERCISE 1.2(DO THIS)

13. How will you show that  is a composite

numbers ? Explain.

Watch Video Solution

(17 × 11 × 2) + (17 × 11 × 5)

14. What is the last digit of  ?

Watch Video Solution

6100

1. If , then what is the relationship between a,b and q in 

of Euclid division lemma?

Watch Video Solution

r = 0 a = bq + r

https://dl.doubtnut.com/l/_S1yRDAsWgjVI
https://dl.doubtnut.com/l/_Hx0R2MrPaIzo
https://dl.doubtnut.com/l/_8MpOSx4Upa3y
https://dl.doubtnut.com/l/_bvHFVGOPKKrQ


1. Express 2310 as a product of prime factors. Also see how your friends

have factorized the number. Have they done it as you ? Verify your final

product with your friend's result. Try this for 3 or 4 more numbers. What

do you conclude?

Watch Video Solution

2. Find the HCF and LCM of the following given pairs of numbers by prime

facrtorization. (i) 120,90

Watch Video Solution

3. Find the HCF and LCM of the following given pairs of numbers by prime

facrtorization. (ii) 50,60

Watch Video Solution

https://dl.doubtnut.com/l/_bvHFVGOPKKrQ
https://dl.doubtnut.com/l/_NL5AsHHAxVbV
https://dl.doubtnut.com/l/_SRYJVovOwYo8


EXERCISE 1.2(TRY THIS)

EXERCISE 1.3

4. Find the HCF and LCM of the following given pairs of numbers by prime

facrtorization. (iii) 37,49

Watch Video Solution

1. Show that  cannot end with the digit 0 or 5 for any natural

numbers 'n' and 'm'.

Watch Video Solution

3n × 4m

1. Write the following rational numbers in their decimal form and also

state which are terminating and which have non-terminating repeating

decimals. (i) 
3

8

https://dl.doubtnut.com/l/_2lu1R6kWw4d6
https://dl.doubtnut.com/l/_EyxlZyQSt4Ax
https://dl.doubtnut.com/l/_fSiGPwqBQJZZ


Watch Video Solution

2. Write the following rational numbers in their decimal form and also

state which are terminating and which have non-terminating repeating

decimals. (ii) 

Watch Video Solution

229

400

3. Write the following rational numbers in their decimal form and also

state which are terminating and which have non-terminating repeating

decimals. (iii) 

Watch Video Solution

1

5

4. Write the following rational numbers in their decimal form and also

state which are terminating and which have non-terminating repeating

decimals. (iv) 

Watch Video Solution

2

11

https://dl.doubtnut.com/l/_fSiGPwqBQJZZ
https://dl.doubtnut.com/l/_jt0mOQVgcwHO
https://dl.doubtnut.com/l/_r5TZdyrls7C9
https://dl.doubtnut.com/l/_XeDLOsrqmgWe


5. Write the following rational numbers in their decimal form and also

state which are terminating and which have non-terminating repeating

decimals. (v) 

Watch Video Solution

8

125

6. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (i) 

Watch Video Solution

13

3125

7. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (ii) 

Watch Video Solution

11

12

https://dl.doubtnut.com/l/_XeDLOsrqmgWe
https://dl.doubtnut.com/l/_1BPHHmMxsgT9
https://dl.doubtnut.com/l/_fcobFxOGCYdE
https://dl.doubtnut.com/l/_7lEpOrz6xMD7


8. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (iii) 

Watch Video Solution

64

455

9. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (iv) 

Watch Video Solution

15

1600

10. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (v) 

Watch Video Solution

29

343

https://dl.doubtnut.com/l/_7lEpOrz6xMD7
https://dl.doubtnut.com/l/_OyyaxTZycAZO
https://dl.doubtnut.com/l/_gxs0E9oyLlC3
https://dl.doubtnut.com/l/_VDPGZuhK4mvb


11. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (vi) 

Watch Video Solution

23

23 × 52

12. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (vii) 

Watch Video Solution

129

22.57.75

13. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (viii) 

Watch Video Solution

9

15

https://dl.doubtnut.com/l/_jqpQoiF4K2Gv
https://dl.doubtnut.com/l/_dTYUkvaG3cSq
https://dl.doubtnut.com/l/_r21nXyfTMIyE
https://dl.doubtnut.com/l/_i0slCxL5eLI3


14. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (ix) 

Watch Video Solution

36

100

15. Without performing division, state whether the following rational

numbers will have a terminating decimal form or a non-terminating,

repeating decimal form. (x) 

Watch Video Solution

77

210

16. Write the following rationals in decimal form using Theorem 1.4 (ii)

Watch Video Solution

15

16

https://dl.doubtnut.com/l/_i0slCxL5eLI3
https://dl.doubtnut.com/l/_tCpNeNcK9Unl
https://dl.doubtnut.com/l/_E7PPNq6c4DMq


17. Write the following rationals in decimal form using Theorem 1.4 (ii)

Watch Video Solution

15

16

18. Write the following rationals in decimal form using Theorem 1.4 (iii)

Watch Video Solution

23

23.52

19. Write the following rationals in decimal form using Theorem 1.4 (iv)

Watch Video Solution

7218

32.52

20. Write the following rationals in decimal form using Theorem 1.4 (v)

143
110

https://dl.doubtnut.com/l/_3bZYUo6V9UNF
https://dl.doubtnut.com/l/_Iu2ZtEDV8tAy
https://dl.doubtnut.com/l/_oLBDB6VVXQ6B
https://dl.doubtnut.com/l/_q84OCGMn3pUS


Watch Video Solution

21. The decimal form of some real numbers are given below. In each case,

decide whether the number is rational or not. If it is rational, and

expressed in form , what can you say about the prime factors of q?

(iii) 

Watch Video Solution

p/q

43.123456789

22. The decimal form of some real numbers are given below. In each case,

decide whether the number is rational or not. If it is rational, and

expressed in form , what can you say about the prime factors of q? (ii)

Watch Video Solution

p/q

0.120120012000120000………….

23. The decimal form of some real numbers are given below. In each case,

decide whether the number is rational or not. If it is rational, and

https://dl.doubtnut.com/l/_q84OCGMn3pUS
https://dl.doubtnut.com/l/_zzpVBsEJ1q3S
https://dl.doubtnut.com/l/_E0pPVL05w07u
https://dl.doubtnut.com/l/_dr0eeAT9lqAk


EXERCISE 1.3(DO THIS)

expressed in form , what can you say about the prime factors of q?

(iii) 

Watch Video Solution

p/q

43.123456789

1. Write the following terminating decimals in the form of

 are co-primes (i) 15.265 


What can you conclude about the denominators through this process ?

Watch Video Solution

p/q, q ≠ 0 and p, q

2. Write the following terminating decimals in the form of

 are co-primes (ii) 0.1255 


What can you conclude about the denominators through this process ?

Watch Video Solution

p/q, q ≠ 0 and p, q

https://dl.doubtnut.com/l/_dr0eeAT9lqAk
https://dl.doubtnut.com/l/_XiS2xesdd2Lg
https://dl.doubtnut.com/l/_csr5UU9nj4zM
https://dl.doubtnut.com/l/_lvspAGXDgFtd


3. Write the following terminating decimals in the form of

 are co-primes (iii) 0.4 


What can you conclude about the denominators through this process ?

Watch Video Solution

p/q, q ≠ 0 and p, q

4. Write the following terminating decimals in the form of

 are co-primes (iv) 23.34 


What can you conclude about the denominators through this process ?

Watch Video Solution

p/q, q ≠ 0 and p, q

5. Write the following terminating decimals in the form of

 are co-primes (v) 1215.8 


What can you conclude about the denominators through this process ?

Watch Video Solution

p/q, q ≠ 0 and p, q

https://dl.doubtnut.com/l/_lvspAGXDgFtd
https://dl.doubtnut.com/l/_daRYeICes9Cw
https://dl.doubtnut.com/l/_cpGIy0SWf599
https://dl.doubtnut.com/l/_8fwjLoInZsLf


6. Write the following rational numbers in the form of  where q is of

the form  where  are non-negative integers and then write the

numbers in their decimal form. (i) 

Watch Video Solution

p/q,

2n5m n, m

3

4

7. Write the following rational numbers in the form of  where q is of

the form  where  are non-negative integers and then write the

numbers in their decimal form. (ii) 

Watch Video Solution

p/q,

2n5m n, m

7
25

8. Write the following rational numbers in the form of  where q is of

the form  where  are non-negative integers and then write the

numbers in their decimal form. (iii) 

Watch Video Solution

p/q,

2n5m n, m

51

64

https://dl.doubtnut.com/l/_8fwjLoInZsLf
https://dl.doubtnut.com/l/_jG0qLB1LDMuf
https://dl.doubtnut.com/l/_bhwwEUdFy4di


9. Write the following rational numbers in the form of  where q is of

the form  where  are non-negative integers and then write the

numbers in their decimal form. (iv) 

Watch Video Solution

p/q,

2n5m n, m

14
25

10. Write the following rational numbers in the form of  where q is

of the form  where  are non-negative integers and then write

the numbers in their decimal form. (v) 

Watch Video Solution

p/q,

2n5m n, m

80

100

11. Write the folllowing rational numbers as decimal form and find out

the block of repeating digits in the quotient. (i) 

Watch Video Solution

1

3

https://dl.doubtnut.com/l/_axTM5ea0S09Y
https://dl.doubtnut.com/l/_TXCssIWLi1L0
https://dl.doubtnut.com/l/_xAKRbx6m2dky


EXERCISE 1.4

12. Write the folllowing rational numbers as decimal form and find out

the block of repeating digits in the quotient. (ii) 

Watch Video Solution

2

7

13. Write the folllowing rational numbers as decimal form and find out

the block of repeating digits in the quotient. (iii) 

Watch Video Solution

5

11

14. Write the folllowing rational numbers as decimal form and find out

the block of repeating digits in the quotient. (iv) 

Watch Video Solution

10

13

https://dl.doubtnut.com/l/_fw8MZV3DZDsN
https://dl.doubtnut.com/l/_Brrcp6KtWlZv
https://dl.doubtnut.com/l/_vdj35BUSYeZq


1. Prove that the following are irrational. (i) 

Watch Video Solution

1

√2

2. Prove that the following are irrational. (ii) 

Watch Video Solution

√3 + √5

3. Prove that the following are irrational. (iii) 

Watch Video Solution

6 + √2

4. Prove that the following are irrational. (iv) 

Watch Video Solution

√5

5. Prove that the following are irrational. (v) 3 + 2√5

https://dl.doubtnut.com/l/_uzi9tBkWqm8w
https://dl.doubtnut.com/l/_ru63jsZ3cKpU
https://dl.doubtnut.com/l/_0vdo0CFlnkfy
https://dl.doubtnut.com/l/_APOcKR9dPgOg
https://dl.doubtnut.com/l/_cbeWHVKmZ3tY


EXERCISE 1.4(DO THIS)

EXERCISE 1.5

Watch Video Solution

6. Prove that  is an irrational, where p,q are primes.

Watch Video Solution

√p + √q

1. Verify the statement proved above for  and for 

Watch Video Solution

p = 2, p = 5

a2 = 1, 4, 9, 25, 36, 49, 64 and 81.

1. Determine the values of the following. (i) 

Watch Video Solution

log25 5

https://dl.doubtnut.com/l/_cbeWHVKmZ3tY
https://dl.doubtnut.com/l/_LucaizBD3Vf7
https://dl.doubtnut.com/l/_GGHzXH8Z0QeS
https://dl.doubtnut.com/l/_6RToXfmVj3Ep


2. Determine the values of the following. (ii) 

Watch Video Solution

log81 3

3. Determine the values of the following. (iii) 

Watch Video Solution

log2( )
1

16

4. Determine the values of the following. (iv) 

Watch Video Solution

log7 1

5. Determine the values of the following. (v) 

Watch Video Solution

logx √x

https://dl.doubtnut.com/l/_6RToXfmVj3Ep
https://dl.doubtnut.com/l/_tfMeULN22qK2
https://dl.doubtnut.com/l/_xcTO8w6HMkfC
https://dl.doubtnut.com/l/_O28ufwxv5WG2
https://dl.doubtnut.com/l/_t8y2DxsxY3a1


6. Determine the values of the following. (vi) 

Watch Video Solution

log2 512

7. Determine the values of the following. (vii) 

Watch Video Solution

log10 0.01

8. Determine the values of the following. (viii) 

Watch Video Solution

log ( )2
3

8

27

9. Determine the values of the following. (ix) 

Watch Video Solution

22 + log2 3

https://dl.doubtnut.com/l/_y6veBH3cOqVm
https://dl.doubtnut.com/l/_Dt07ioHWjogO
https://dl.doubtnut.com/l/_TUt6sCKr5fd6
https://dl.doubtnut.com/l/_gtVWWwpTioZ4


10. Write the following expression as log N and find their values. (i)

Watch Video Solution

log 2 + log 5

11. Write the following expression as log N and find their values. (ii)

Watch Video Solution

log2 16 − log2 2

12. Write the following expression as log N and find their values. (iii)

Watch Video Solution

3 log64 4

13. Write the following expression as log N and find their values. (iv)

2 log 3 − 3 log 2

https://dl.doubtnut.com/l/_eyFVLEyIBWIu
https://dl.doubtnut.com/l/_aVHHbpgUDbuu
https://dl.doubtnut.com/l/_s9IQ60yd8gKh
https://dl.doubtnut.com/l/_Q6Ff4fJFHWyx


Watch Video Solution

14. Write the following expression as log N and find their values. (v)

Watch Video Solution

log 10 + 2 log 3 − log 2

15. Evaluate each of the following in terms of x and y, if it is given

 (i) 

Watch Video Solution

x = log2 3 and y = log2 5. log2 15

16. Evaluate each of the following in terms of x and y, if it is given

 (ii) 

Watch Video Solution

x = log2 3 and y = log2 5. log2 7.5

https://dl.doubtnut.com/l/_Q6Ff4fJFHWyx
https://dl.doubtnut.com/l/_wuS9uHecVQfV
https://dl.doubtnut.com/l/_cUNAhQy3TUnY
https://dl.doubtnut.com/l/_rZYoVP3t5t1v


17. Evaluate each of the following in terms of x and y, if it is given

 (iii) 

Watch Video Solution

x = log2 3 and y = log2 5. log2 60

18. Evaluate each of the following in terms of x and y, if it is given

 (iv) 

Watch Video Solution

x = log2 3 and y = log2 5. log2 6750

19. Expand the following. (i) 

Watch Video Solution

log 1000

20. Expand the following. (ii) 

Watch Video Solution

log[ ]
128

625

https://dl.doubtnut.com/l/_QXditpTL1lGC
https://dl.doubtnut.com/l/_2dxfJxYkxdBZ
https://dl.doubtnut.com/l/_dkODj0i81QA9
https://dl.doubtnut.com/l/_crrDslKBzEIA
https://dl.doubtnut.com/l/_L0g0xgCVJ72j


21. Expand the following. (iii) 

Watch Video Solution

logx2y3z4

22. Expand the following. (iv) 

Watch Video Solution

log
p2q3

r

23. Expand the following. (v) 

Watch Video Solution

log√
x3

y2

24. If  then prove that 

Watch Video Solution

x2 + y2 = 25xy.

2 log(x + y) = 3 log 3 + logx + logy.

https://dl.doubtnut.com/l/_L0g0xgCVJ72j
https://dl.doubtnut.com/l/_YjiSR60mlZZL
https://dl.doubtnut.com/l/_exFc044FgGWi
https://dl.doubtnut.com/l/_Rs5E84run37E
https://dl.doubtnut.com/l/_4LkSDKdTPNBp


25. If , then find the values of 

Watch Video Solution

log( ) = (logx + logy)
x + y

3

1

2
+ .

x

y

y

x

26. If  then find the value of .

Watch Video Solution

(2.3)x = (0.23)y = 1000 −
1

x

1

y

27. If  then find the value of x.

Watch Video Solution

2x+ 1 = 31 −x

28. Is (i) log 2 is rational or irrational ? Justify your answer.

Watch Video Solution

29. Is (ii) log 100 is rational or irrational ? Justify your answer.

https://dl.doubtnut.com/l/_4LkSDKdTPNBp
https://dl.doubtnut.com/l/_S94F3lCdmA1A
https://dl.doubtnut.com/l/_JVZElynC0aHd
https://dl.doubtnut.com/l/_v3hFqtktaIlw
https://dl.doubtnut.com/l/_N4svpX2dDzyF


EXERCISE 1.5(THINK & DISCUSS)

Watch Video Solution

1. Write the nature of y.a and x in . Can you determine the value of

x for a given y ? Justify your answer.

Watch Video Solution

y = ax

2. You know that  What do you

notice about the values of ? What can

you generalise from this?

Watch Video Solution

21 = 2, 41 = 4, 81 = 8 and 101 = 10.

log2 2, log4 4, log8 8 and log10 10

3. Does  exist?

Watch Video Solution

log10 0

https://dl.doubtnut.com/l/_N4svpX2dDzyF
https://dl.doubtnut.com/l/_GtQwH4zsjtSL
https://dl.doubtnut.com/l/_fDVZK0PZUl3W
https://dl.doubtnut.com/l/_Ad31vaz1tW3l


EXERCISE 1.5(DO THIS)

4. We know that, If  then  Then what is the value of 

? Justify your answer. Generalise the above by taking some more

examples for 

Watch Video Solution

7 = 2x x = log2 7.

2log2 7

alogaN .

1. Write the powers to which the bases to be raised in the following. (i)

Watch Video Solution

64 = 2x

2. Write the powers to which the bases to be raised in the following. (ii)

Watch Video Solution

100 = 5b

https://dl.doubtnut.com/l/_XteKTFWMc66Q
https://dl.doubtnut.com/l/_lJXA689ZlQCV
https://dl.doubtnut.com/l/_4SCZzWRhNieR
https://dl.doubtnut.com/l/_63zLCiiTJphC


3. Write the powers to which the bases to be raised in the following. (iii)

Watch Video Solution

= 3c
1

81

4. Write the powers to which the bases to be raised in the following. (iv)

Watch Video Solution

100 = 10

5. Write the powers to which the bases to be raised in the following. (v)

Watch Video Solution

= 4a
1

256

6. Express the logarithms of the following into sum of the logarithms. (i)

W t h Vid S l ti

35 × 46

https://dl.doubtnut.com/l/_63zLCiiTJphC
https://dl.doubtnut.com/l/_Npq0yoloZDu5
https://dl.doubtnut.com/l/_QQ71uut8PgP5
https://dl.doubtnut.com/l/_sWgKEff66u6y


Watch Video Solution

7. Express the logarithms of the following into sum of the logarithms. (ii)

Watch Video Solution

235 × 437

8. Express the logarithms of the following into sum of the logarithms. (iii)

Watch Video Solution

2437 × 3568

9. Express the logarithms of the following into difference of the

logarithms. (i) 

Watch Video Solution

23

34

https://dl.doubtnut.com/l/_sWgKEff66u6y
https://dl.doubtnut.com/l/_WGLwfJKfLDWK
https://dl.doubtnut.com/l/_stn4iXZoIsHD
https://dl.doubtnut.com/l/_uRo0YQraUcUn


10. Express the logarithms of the following into difference of the

logarithms. (ii) 

Watch Video Solution

373

275

11. Express the logarithms of the following into difference of the

logarithms. (iii) 

Watch Video Solution

4525

3734

12. Express the logarithms of the following into difference of the

logarithms. (iv) 

Watch Video Solution

5055

3303

13. By using the formula  convert the following. (i) loga x
n = n loga x,

log2 725

https://dl.doubtnut.com/l/_ZpoQ1Gfjjxlh
https://dl.doubtnut.com/l/_Yb6LclE3hR2U
https://dl.doubtnut.com/l/_3YbFzYpMwuxN
https://dl.doubtnut.com/l/_o5XCIrU0ONqP


EXERCISE 1.5(TRY THIS)

Watch Video Solution

14. By using the formula  convert the following. (ii) 

Watch Video Solution

loga x
n = n loga x,

log5 850

15. By using the formula  convert the following. (iii) 

Watch Video Solution

loga x
n = n loga x,

log 523

1. By using the formula  convert the following. (iv) 

Watch Video Solution

loga x
n = n loga x,

log 1024

https://dl.doubtnut.com/l/_o5XCIrU0ONqP
https://dl.doubtnut.com/l/_aljKvEQ1ttwH
https://dl.doubtnut.com/l/_1xey4GGnwJ6L
https://dl.doubtnut.com/l/_2eUjHyKjV8ov


2. Write the following relation in expontial form and find the values of

respective variables. (i) 

Watch Video Solution

log2 32 = x

3. Write the following relation in expontial form and find the values of

respective variables. (iI) 

Watch Video Solution

log5 625 = y

4. Write the following relation in expontial form and find the values of

respective variables. (iii) 

Watch Video Solution

log10 10000 = z

5. Write the following relation in expontial form and find the values of

respective variables. (iv) log7 = − a
1

343

https://dl.doubtnut.com/l/_2eUjHyKjV8ov
https://dl.doubtnut.com/l/_gXZmLOTDnDnz
https://dl.doubtnut.com/l/_dr18SrhJnf8B
https://dl.doubtnut.com/l/_wK8w9talsH8K
https://dl.doubtnut.com/l/_7XkomuOQq7Ru


Watch Video Solution

6. The value of 

Watch Video Solution

log2 32 = …………

7. (ii) Find the values of 

Watch Video Solution

logc √c.

8. 

Watch Video Solution

log10 0.001 = ………. .

9. (iv) Find the value of .

Watch Video Solution

log 2
3

8

27

https://dl.doubtnut.com/l/_7XkomuOQq7Ru
https://dl.doubtnut.com/l/_8EIsXMMOx6JD
https://dl.doubtnut.com/l/_b0Ap6pwTj3nC
https://dl.doubtnut.com/l/_cf9wBkteVSxG
https://dl.doubtnut.com/l/_NgNjfIzotma9


OPTIONAL EXERCISE

1. Can the number , n being a natural number, end with the digit 5 ?

Give reason.

Watch Video Solution

6n

2. Is  a composite number ? Justify your answer.

Watch Video Solution

7 × 5 × 3 × 2 + 3

3. Prove that  is an irrational number. Also check whether 

 is rational or irrational.

Watch Video Solution

(2√3 + √5)

(2√3 + √5)(2√3 − √5)

4. If  prove that 

W h Vid S l i

x2 + y2 = 6xy, 2 log(x + y) = logx + logy + 3 log 2

https://dl.doubtnut.com/l/_Prat1Ky1YfU5
https://dl.doubtnut.com/l/_qAIUbvG6Kt5K
https://dl.doubtnut.com/l/_BP3xIgn81I7O
https://dl.doubtnut.com/l/_wMhQzwXkgKeN


OBSERVATION MATERIAL TO SOLVE VARIOUS QUESTIONS GIVEN IN THE

PUBLIC EXAMINATION (1 MARKS QUESTIONS)

Watch Video Solution

5. Find the number of digit in , if .

Watch Video Solution

42013 log10 2 = 0.3010

1. Find the HCF of 60 and 100 by using Euclids division lemma.

Watch Video Solution

2. Insert 4 rational numbers between  and 1 without using 

formula.

Watch Video Solution

3

4

a + b

2

https://dl.doubtnut.com/l/_wMhQzwXkgKeN
https://dl.doubtnut.com/l/_HPNAUEjiMHIF
https://dl.doubtnut.com/l/_qrJFdGHGrtpM
https://dl.doubtnut.com/l/_Fxf4dAdCM0dG


3. If the prime factorization of a natural number (n) is 

How many consecutive zeroes will it have at the end of it? Justify your

answer.

Watch Video Solution

22 × 32 × 52 × 7.

4. Find the value of 

Watch Video Solution

log5 125.

5. Write any two irrational numbers lying between 3 and 4.

Watch Video Solution

6. Find the value of 

Watch Video Solution

log√2 256.

https://dl.doubtnut.com/l/_44FF2x3qHV1a
https://dl.doubtnut.com/l/_yQSbn1CoUl06
https://dl.doubtnut.com/l/_A3Ezdiq8JYNF
https://dl.doubtnut.com/l/_YJgSIJPI0beS
https://dl.doubtnut.com/l/_itFa2geSBoxK


OBSERVATION MATERIAL TO SOLVE VARIOUS QUESTIONS GIVEN IN THE

PUBLIC EXAMINATION (2 MARKS QUESTIONS)

7. Find the HCF and LCM of 90, 144 by prime factorisation method.

Watch Video Solution

8. Is  81 rational or irrational ? Justify your answer.

Watch Video Solution

log3

9. Expand 

Watch Video Solution

log10 385.

10. Find the value of 

Watch Video Solution

log5 √625.

https://dl.doubtnut.com/l/_itFa2geSBoxK
https://dl.doubtnut.com/l/_0KlDCVVivtJp
https://dl.doubtnut.com/l/_FvvrbZ3N2UMZ
https://dl.doubtnut.com/l/_CeSHaRItIBlJ


1. If  then prove that 

Watch Video Solution

x2 + y2 = 7xy, log( ) = (logx + logy).
x + y

3

1

2

2. Write any three numbers of two digit its. Find the LCM and HCF for the

above numbers by the Prime Factorization method.

Watch Video Solution

3. Give an example for each of the following: 

(i) The product of two irrational numbers is a rational number.

Watch Video Solution

4. Give an example for each of the following: 

(ii) The product of two irrational numbers is an irrational number.

W t h Vid S l ti

https://dl.doubtnut.com/l/_OYvXAP5Y65sb
https://dl.doubtnut.com/l/_483aW9V5CaBc
https://dl.doubtnut.com/l/_2o5NxIELFUdD
https://dl.doubtnut.com/l/_nk86ZNFZxbyZ


Watch Video Solution

5. State with reasons which of the following are rational numbers and

which are irrantional numbers. (i) 

Watch Video Solution

√225 × √4

6. State with reasons which of the following are rational numbers and

which are irrantional numbers. (ii) 

Watch Video Solution

6√50 + 8√125

7. Expand .

Watch Video Solution

log( )
1125

32

8. (i) Express the numbers 6825 and 3825 as a product of its prime

factors.

https://dl.doubtnut.com/l/_nk86ZNFZxbyZ
https://dl.doubtnut.com/l/_GV4oY5meCtoS
https://dl.doubtnut.com/l/_q76wyd8fWRcc
https://dl.doubtnut.com/l/_R7HM5ETcEJjX
https://dl.doubtnut.com/l/_5fRSBYddscy2


Watch Video Solution

9. (i) express the number 6825 and 3825 is a product of its prime factors

(ii) Find the H. C. F and L. C. m of the above numbers
 (iii) Justify your

answer.

Watch Video Solution

10. (i) express the number 6825 and 3825 is a product of its prime factors

(ii) Find the H. C. F and L. C. m of the above numbers
 (iii) Justify your

answer.

Watch Video Solution

11. If  then show that 

Watch Video Solution

x2 + y2 = 7xy

2 log(x + y) = logx + logy + 2 log 3.

https://dl.doubtnut.com/l/_5fRSBYddscy2
https://dl.doubtnut.com/l/_E2wXYyelIJLf
https://dl.doubtnut.com/l/_n2KMObSkyozr
https://dl.doubtnut.com/l/_sGEk7GH3tRnB


12. Express 2016 and as product of prime factors.

Watch Video Solution

13. Write any two digit numbers. Find their L.C.M. and G.C.D. by prime

factorization method.

Watch Video Solution

14. Prove that  is irrational.

Watch Video Solution

2 + √3

15. Show that 

Watch Video Solution

log + 2 log − log = log 2
162

343

7
9

1

7

https://dl.doubtnut.com/l/_sGEk7GH3tRnB
https://dl.doubtnut.com/l/_vVmcPZgqQoQ4
https://dl.doubtnut.com/l/_7kVJgD1rK3ha
https://dl.doubtnut.com/l/_1ut94gClrBUT
https://dl.doubtnut.com/l/_Jiz948bPmmiK
https://dl.doubtnut.com/l/_R5qRnAR9etYe


OBSERVATION MATERIAL TO SOLVE VARIOUS QUESTIONS GIVEN IN THE

PUBLIC EXAMINATION (4 MARKS QUESTIONS)

16. Find the HCF of 1260 and 1440 by using Euclid's division lemma.

Watch Video Solution

1. Prove that  is irrational.

Watch Video Solution

√5 + √7

2. Show that  is irrational.

Watch Video Solution

√3

3. Use Euclid's division lemma to show that the cube of any positive

integer is of the form 7m or .

Watch Video Solution

7m + 1 or 7m + 6

https://dl.doubtnut.com/l/_R5qRnAR9etYe
https://dl.doubtnut.com/l/_AmaSPXJetE6K
https://dl.doubtnut.com/l/_A9MgpK8FuyyO
https://dl.doubtnut.com/l/_O8bXEor5AF9p


4. Prove that  is a irrational number.

Watch Video Solution

√2 − 3√5

5. Use Euclid's division lemma, to show that the cube of any positive

integer is of the form  for any integer 'p'.

Watch Video Solution

3p or 3p + 1 or 3p + 2

6. Prove that  is an irrational number.

Watch Video Solution

√3 − √5

7. Use Euclid's division lemma to show that the square of any positive

integer is of the form  where n is a whole

number.

5n or 5n + 1 or 5n + 4,

https://dl.doubtnut.com/l/_O8bXEor5AF9p
https://dl.doubtnut.com/l/_RqGg8KngDaif
https://dl.doubtnut.com/l/_BWPwLxrJUiqF
https://dl.doubtnut.com/l/_uEbLI8MJV1Rj
https://dl.doubtnut.com/l/_TmKPwzk6xE58


CREATIVE QUESTIONS FOR CCE MODEL EXAMINATION(Fundamental Theorem

of Arithmetic:)

Watch Video Solution

8. If , then show that .

Watch Video Solution

x2 + y2 = 27xy log( ) = [logx + logy]
x − y

5

1

2

9. Find the HCF of the 36 and 64

Watch Video Solution

10. Show that  is irrational.

Watch Video Solution

2 + 5√3

https://dl.doubtnut.com/l/_TmKPwzk6xE58
https://dl.doubtnut.com/l/_KzhJ0KwMFFSf
https://dl.doubtnut.com/l/_HaeLQVvbGYI4
https://dl.doubtnut.com/l/_fCFm698qIKDf


1. Support the Fundamental theorem of Arithmetic by considering some

examples.

Watch Video Solution

2. Write 210 as product of prime factors.

Watch Video Solution

3. Is the units digit in the value of  where 'n' is a natural number is

zero? Justify your answer.

Watch Video Solution

6n

4. If the HCF of 306 and 657 is 9 then find their LCM.

Watch Video Solution

https://dl.doubtnut.com/l/_uspeJUZIRgOb
https://dl.doubtnut.com/l/_OF6HigX5nt77
https://dl.doubtnut.com/l/_jOsUBMEkoNqw
https://dl.doubtnut.com/l/_GPeRTg68ZvPI
https://dl.doubtnut.com/l/_b3FJsb3x9MmN


CREATIVE QUESTIONS FOR CCE MODEL EXAMINATION(Logarithms :)

5. Find the HCF of 45,75 from Euclid's division lemma.

Watch Video Solution

6. How do you say

 are composite

numbers? Explain it.

Watch Video Solution

7 × 11 × 13 + 13 and 7 × 6 × 5 × 4 × 3 × 2 × 1 + 5

1. Express the following in log forms. (i) 

Watch Video Solution

25 = 32

2. Express the following in log forms. (ii) 33 = 27

https://dl.doubtnut.com/l/_b3FJsb3x9MmN
https://dl.doubtnut.com/l/_autFyWOjILh6
https://dl.doubtnut.com/l/_yB68qXMU6VQe
https://dl.doubtnut.com/l/_brcyzQsRn6Kd


Watch Video Solution

3. Express the following in log forms. (iii) 

Watch Video Solution

53 = 125

4. Calculate the value of .

Watch Video Solution

log2 512

5. Calculate the value of .

Watch Video Solution

log10 0.01

6. Express  in its exponential form.

Watch Video Solution

log5 125 = 3

https://dl.doubtnut.com/l/_brcyzQsRn6Kd
https://dl.doubtnut.com/l/_LLbfkGPgaP4p
https://dl.doubtnut.com/l/_NRgUFwST52om
https://dl.doubtnut.com/l/_F81hRIQ2MOlq
https://dl.doubtnut.com/l/_BwO9z8D7aYh6
https://dl.doubtnut.com/l/_WqGMqaErh8xB


CREATIVE QUESTIONS FOR CCE MODEL EXAMINATION(Irrational Numbers :)

7. Prove that 

Watch Video Solution

loga xy = loga x + loga y.

8.  ion concentration in a soap used by Sankar is . Then

find its pH using logarithm.

Watch Video Solution

[H + ] 9.2 × 10− 22

1. Choose the irrational numbers from the following given

Watch Video Solution

√2, √3, √8, √4, √16

2. Define the irrational numbers. Give examples.

https://dl.doubtnut.com/l/_WqGMqaErh8xB
https://dl.doubtnut.com/l/_qYEWx8JuB3Cv
https://dl.doubtnut.com/l/_zlMryOt3GN2P
https://dl.doubtnut.com/l/_rAfdFIydH33J


Watch Video Solution

3. Write the differences between rational and irrational numbers.

Watch Video Solution

4. Plot  on number line.

Watch Video Solution

√2, √3, √5

5. Find the value of  upto 4 decimals.

Watch Video Solution

√2

6. Where do we use irrational numbers in our day to day life?

Watch Video Solution

https://dl.doubtnut.com/l/_rAfdFIydH33J
https://dl.doubtnut.com/l/_T55PlXoGU3nq
https://dl.doubtnut.com/l/_0REzAs3QXTVp
https://dl.doubtnut.com/l/_K8O18sJTcs0j
https://dl.doubtnut.com/l/_wF9s8CN3veIr
https://dl.doubtnut.com/l/_9jFXJtFPRTz7


OBSERVATION BITS TO SOLVE VARIOUS BITS GIVEN IN THE PUBLIC

EXAMINATION(MCQs)

7. Establish the relation between diagonal and side of a square.

Watch Video Solution

8. Is  a rational or irrational ? Give reasons.

Watch Video Solution

π

1. The rational number in between  is………

A. 

B. 

C. 

D. 

and √1
1

2

9

4

3

4

5

4

7
4

https://dl.doubtnut.com/l/_9jFXJtFPRTz7
https://dl.doubtnut.com/l/_Lnoec4n6S0vf
https://dl.doubtnut.com/l/_CpFrwl3CJUGi


Answer: B

Watch Video Solution

2. Set of Rational and irrational numbers are called…….

A. Real numbers

B. Natural numbers

C. Whole numbers

D. Integers

Answer: A

Watch Video Solution

3. log form of  is………..

A. 

35 = 243

log3 243 = 5

https://dl.doubtnut.com/l/_CpFrwl3CJUGi
https://dl.doubtnut.com/l/_K98TzjbXiAwX
https://dl.doubtnut.com/l/_f904nX0oT3Ky


B. 

C. 

D. 

Answer: A

Watch Video Solution

log5 243 = 3

log243 3 = 5

log243 5 = 5

4. The symbol of "implies" is…….

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⇔

⇒

∀

∃

https://dl.doubtnut.com/l/_f904nX0oT3Ky
https://dl.doubtnut.com/l/_zClKeDV6tkZo
https://dl.doubtnut.com/l/_AVxKOAg9I7FN


5. The prime factorisation of 729 is……….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

36

35

34

38

6. If 'x' and 'y' are two prime numbers then their HCF is………….

A. 0

B. 1

C. 

D. 

xy

x + y

https://dl.doubtnut.com/l/_AVxKOAg9I7FN
https://dl.doubtnut.com/l/_6oXztcbXIu8h


Answer: B

Watch Video Solution

7. Calculate the value of .

A. 

B. 1

C. 

D. 2

Answer: C

Watch Video Solution

log10 0.01

−1

−2

8. The number of odd numbers in between '0' and 100 is……………..

A. 100

https://dl.doubtnut.com/l/_6oXztcbXIu8h
https://dl.doubtnut.com/l/_KF6OcyQ4Cw7c
https://dl.doubtnut.com/l/_WYD4NBQ8CJ0z


B. 51

C. 49

D. 50

Answer: D

Watch Video Solution

9. The exponential form of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

log4 8 = x

x2 = 8

x4 = 8

4x = 8

8x = 4

https://dl.doubtnut.com/l/_WYD4NBQ8CJ0z
https://dl.doubtnut.com/l/_XqGTQuxzclxE
https://dl.doubtnut.com/l/_fL4VMqF322Rl


10. The valiue of  in decimal form is………

A. 0.036

B. 0.36

C. 0.0036

D. 3.6

Answer: A

Watch Video Solution

36

23 × 53

11. LCM of two numbers is 108 and their HCF is 9 and one of them is 54, So

the second one is………

A. 9

B. 18

C. 6

D. 12

https://dl.doubtnut.com/l/_fL4VMqF322Rl
https://dl.doubtnut.com/l/_UglrZ4b9xWhk


Answer: B

Watch Video Solution

12.  is…………….

A. non-terminating decimal

B. terminating decimal

C. non-terminating, repeating decimal

D. none

Answer: B

Watch Video Solution

3

8

13. If , then………….(a,c are positive integers)

A. 

a√c = √ac

a = 1

https://dl.doubtnut.com/l/_UglrZ4b9xWhk
https://dl.doubtnut.com/l/_Bu89Ks1bLrYv
https://dl.doubtnut.com/l/_jYTN8FqIM8mJ


B. 

C. 

D. 

Answer: A

Watch Video Solution

a = c

c = 1

a = − 1

14. 

A. 

B. 8.1

C. 8

D. 

Answer: C

Watch Video Solution

9 − 0. 9̄ = …………

8. 1̄

0. 1̄

https://dl.doubtnut.com/l/_jYTN8FqIM8mJ
https://dl.doubtnut.com/l/_EKc16s6jKRZd
https://dl.doubtnut.com/l/_elOagoOsTRtu


15. A rational number that equals to  is………..

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2. 6̄

7
3

8

3

16

7

17
7

16. The value of 

A. 

B. 2

C. 5

D. 25

log25 5 = ………. .

1

2

https://dl.doubtnut.com/l/_elOagoOsTRtu
https://dl.doubtnut.com/l/_9LWGfjO1trVC


Answer: A

Watch Video Solution

17. The fundamental theorem of arithmetic is applicable to………..

A. 4

B. 3

C. 2

D. 1

Answer: A::B::C

Watch Video Solution

18. The last digit of  is…………..

A. 1

650

https://dl.doubtnut.com/l/_9LWGfjO1trVC
https://dl.doubtnut.com/l/_jssLJdoQAwb3
https://dl.doubtnut.com/l/_knCJEaNjwhdP


B. 6

C. 2

D. 3

Answer: B

Watch Video Solution

19. Which of the following is terminaling decimal?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10

81

41
75

8

125

3

14

https://dl.doubtnut.com/l/_knCJEaNjwhdP
https://dl.doubtnut.com/l/_rIILVsB73n2o
https://dl.doubtnut.com/l/_DIGztyYtXJyn


20. The value of 

A. 2

B. 32

C. 

D. 5

Answer: D

Watch Video Solution

log2 32 = …………

1

5

21. Which of the following is not irrational?

A. 

B. 

C. 

D. 

√2

√3

√4

√5

https://dl.doubtnut.com/l/_DIGztyYtXJyn
https://dl.doubtnut.com/l/_KpSEey1C3xU0


Answer: C

Watch Video Solution

22. 

A. 2

B. 3

C. 

D. 

Answer: D

Watch Video Solution

log10 0.001 = ………. .

−2

−3

23. The number of prime factors of 36 is

A. 4

https://dl.doubtnut.com/l/_KpSEey1C3xU0
https://dl.doubtnut.com/l/_P5Hz2LOUqGc2
https://dl.doubtnut.com/l/_y9YAwLciits9


B. 3

C. 2

D. 1

Answer: C

Watch Video Solution

24. The exponential form of  is………….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

log10 0.001 = − 3

(0.001)10 = − 3

( − 3)10 = 0.001

103 = − 0.001

10− 3 = 0.001

https://dl.doubtnut.com/l/_y9YAwLciits9
https://dl.doubtnut.com/l/_ueWOA5nRsTlt
https://dl.doubtnut.com/l/_hinJDHBuz8L4


25. Which of the following is true for an irrational number? 

(i) Which can be written in the form of , where  


(ii) Which cannot be written in the form of , where . 


(iii) Non-terminating repeating decimals. 

(iv) Non-terminating, non repeating decimals.

A. 

B. 

C.  only

D.  only

Answer: B

Watch Video Solution

p

q
p, q ∈ Z, q ≠ 0.

p

q
p, q ∈ Z, q ≠ 0

(i), (iii)

(ii), (iv)

(i)

(iii)

26. Which of the following is not a rational number?

A. log10 3

https://dl.doubtnut.com/l/_hinJDHBuz8L4
https://dl.doubtnut.com/l/_6y6MaZnj4knr


B. 

C. 

D. 

Answer: A

Watch Video Solution

5. ¯̄̄¯23

123.123

10

19

27. LCM of 24 and 36 is……….

A. 24

B. 36

C. 72

D. 864

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_6y6MaZnj4knr
https://dl.doubtnut.com/l/_lYquy8k4XQTU
https://dl.doubtnut.com/l/_b4sEr61JNI87


28. The logarithmic form of  is……….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ab = c

loga c = b

logb c = a

loga b = c

logb a = c

29. If  then the value of x is……………..

A. 0

B. 1

C. 6

D. 24

3 log(x + 3) = log 27,

https://dl.doubtnut.com/l/_b4sEr61JNI87
https://dl.doubtnut.com/l/_zDnhwRzXWder


Answer: A

Watch Video Solution

30. Which one of the following rational numbers has terminating decimal

expression?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

11

7000

91

21000

343

23 × 53 × 73

21

9000

31. If  are two odd prime numbers, such that  then 

 is………….

P1 and P2 P1 > P2,

P 2
1 − P 2

2

https://dl.doubtnut.com/l/_zDnhwRzXWder
https://dl.doubtnut.com/l/_EgnedEV6FOAH
https://dl.doubtnut.com/l/_B9Lhz5adEtAN


A. an even number

B. an odd number

C. a prime number

D. an odd prime number

Answer: A

Watch Video Solution

32. In the rational form of a terminating decimal number prime factor of

the denominator is……………….

A. only 2

B. only 5

C. 2 or 5 only

D. Any prime

Answer: C

https://dl.doubtnut.com/l/_B9Lhz5adEtAN
https://dl.doubtnut.com/l/_f0rExELRrf6b


Watch Video Solution

33.  value 

A. 1

B. 2

C. 5

D. 10

Answer: A

Watch Video Solution

log10 2 + log10 5 = …………. .

34. If  then the value of x is

A. 9

B. 243

C. 81

log3 729 = x

https://dl.doubtnut.com/l/_f0rExELRrf6b
https://dl.doubtnut.com/l/_HmWl5AxUkBbp
https://dl.doubtnut.com/l/_VHZya6tcteet


CREATIVE BITS FOR CCE MODEL EXAMINATION(MCQs)

D. 6

Answer: D

Watch Video Solution

35. The number of digit in the fractional part of the decimal form of 

is

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

7

40

https://dl.doubtnut.com/l/_VHZya6tcteet
https://dl.doubtnut.com/l/_74l4zFX6jDkj


1. If , then 

A. 4.81648

B. 1.50515

C. 9.63296

D. 9.0309

Answer: B

Watch Video Solution

log 2 = 0.30103 log 32 = ….

2. If , then 

A. 4

B. 

C. 5

D. 

log10 0.00001 − x x = ……

−4

−5

https://dl.doubtnut.com/l/_dIJfHGQsZCLZ
https://dl.doubtnut.com/l/_jFnr2TM246Xh


Answer: D

Watch Video Solution

3. If , then 

A. 2 or 3

B. 5 or 7

C. 

D. 

Answer: A

Watch Video Solution

loga a
x2 + 5x+ 8 = 2 x = ………

−2 or − 3

8 or − 2

4.  then 

A. 2

log3 x
2 = 2 x = ……

https://dl.doubtnut.com/l/_jFnr2TM246Xh
https://dl.doubtnut.com/l/_ODKVDabNndta
https://dl.doubtnut.com/l/_7nLbWgtyOTVL


B. 

C. 3

D. 

Answer: C

Watch Video Solution

−2

−3

5. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

log9 √3√3√3 =

7
8

7
16

1

16

1

8

https://dl.doubtnut.com/l/_7nLbWgtyOTVL
https://dl.doubtnut.com/l/_Ilaa3EHQalN0


6. 

A. 

B. 16

C. 2048

D. 136

Answer: A

Watch Video Solution

log8 128 =

7/3

7. Which of the following is an irrational number?

A. 

B. 

C. 

D. 

√12 × 3

√32 × 2

√35 + 14

√25 + 16

https://dl.doubtnut.com/l/_dtkKobfeY5jJ
https://dl.doubtnut.com/l/_6CfKrKQwje8L


Answer: D

Watch Video Solution

8. The prime facrorization of 144 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

42 × 32

16 × 9

12 × 12

24 × 32

9. L.C.M of the numbers  is

A. 

27 × 34 × 7 and 23 × 34 × 11

23 × 34

https://dl.doubtnut.com/l/_6CfKrKQwje8L
https://dl.doubtnut.com/l/_ctdEkmm1635h
https://dl.doubtnut.com/l/_7tPhdx9b62N0


B. 

C. 

D. 

Answer: C

Watch Video Solution

27 × 34

27 × 34 × 7 × 11

23 × 34 × 7 × 11

10. The H.C.F of the number  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

37 × 53 × 24 and 32 × 74 × 28

24 × 32

28 × 37 × 53 × 74

28 × 37

2 × 3 × 5 × 7

https://dl.doubtnut.com/l/_7tPhdx9b62N0
https://dl.doubtnut.com/l/_mefXtVGcnwsO
https://dl.doubtnut.com/l/_ZXNR7TGAdhAz


11. The decimal expansion of 0.225 in its rational form is

A. 225

B. 

C. 

D. 

Answer: D

Watch Video Solution

225

104

225

104

9

40

12. Which of the following is a rational number?

A. 

B. 

C. 

D. 

√3

√5

√7

√9

https://dl.doubtnut.com/l/_ZXNR7TGAdhAz
https://dl.doubtnut.com/l/_ry3wppF4nt8l


Answer: D

Watch Video Solution

13. What is the L.C.M of greatest 2 digit number and the greatest 3 digit

number?

A. 

B. 999

C. 

D. 

Answer: D

Watch Video Solution

99 × 999

99 × 9 × 111

9 × 11 × 111

14. What is the H.C.F of  where n is a natural number?n and n + 1

https://dl.doubtnut.com/l/_ry3wppF4nt8l
https://dl.doubtnut.com/l/_rv5mFGmgBSoA
https://dl.doubtnut.com/l/_tnltIRksAHvS


A. 

B. 

C. 

D. 1

Answer: D

Watch Video Solution

n

n + 1

n/2

15. What is the L.C.M of least prime and the least composite number?

A. least prime  least composite

B. 2

C. least composite

D. 6

Answer: C

Watch Video Solution

×

https://dl.doubtnut.com/l/_tnltIRksAHvS
https://dl.doubtnut.com/l/_PdgdIzSego9a


16. The product of L.C.M and H.C.F of the least prime and least composite

number is

A. 4

B. 6

C. 8

D. 16

Answer: C

Watch Video Solution

17.  is divisible by 8, if n is

A. an odd number

B. an even number

C. prime number

n2 − 1

https://dl.doubtnut.com/l/_PdgdIzSego9a
https://dl.doubtnut.com/l/_zMa94jCam2t3
https://dl.doubtnut.com/l/_SFNEK7TkTPrE


D. integer

Answer: A

Watch Video Solution

18. If x and y are any two co-prime, then their L.C.M. is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + y

x. y

x/y

x − y

19. If x and y are any two relative prime numbers, then their H.C.f is

https://dl.doubtnut.com/l/_SFNEK7TkTPrE
https://dl.doubtnut.com/l/_Ek5JyFtJoYkW
https://dl.doubtnut.com/l/_s8hpHEeNhNq6


A. 

B. x

C. y

D. 1

Answer: D

Watch Video Solution

x. y

20. If m and n are co-primes, then H.C.F of  is

A. m

B. 

C. 

D. 1

Answer: D

Watch Video Solution

m2 and n2

n2

m2

https://dl.doubtnut.com/l/_s8hpHEeNhNq6
https://dl.doubtnut.com/l/_IN9RGRt0ZXNg


21. If n is a natural number, then which of the following expression ends

in zero?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(3 × 2)n

(5 × 7)n

(9 × 3)n

(2 × 5)n

22. The number of prime factors of 72 is

A. 12

B. 2

C. 3

https://dl.doubtnut.com/l/_IN9RGRt0ZXNg
https://dl.doubtnut.com/l/_13Qjqu2OVelR
https://dl.doubtnut.com/l/_ESwv6ur6RWra


D. 5

Answer: D

Watch Video Solution

23. How many prime factors are there in the prime factorization of 240?

A. 20

B. 5

C. 3

D. 6

Answer: D

Watch Video Solution

24. After how many places the decimal expansion of  terminates?23/125

https://dl.doubtnut.com/l/_ESwv6ur6RWra
https://dl.doubtnut.com/l/_56Z3pIL9cXUW
https://dl.doubtnut.com/l/_urUlMyQGNKbh


A. 125

B. 4

C. 8

D. 3

Answer: D

Watch Video Solution

25. After how many digits will the decimal expansion of 

terminates?

A. 5

B. 4

C. 3

D. Never

Answer: A

11/32

https://dl.doubtnut.com/l/_urUlMyQGNKbh
https://dl.doubtnut.com/l/_x1ZyCKCQ49EN


Watch Video Solution

26. Find the HCF 48 and 56

Watch Video Solution

27. The decimal expansion of  is

A. terminating

B. non-terminating & non-repeating

C. non-terminating & repeating

D. none

Answer: B

Watch Video Solution

9

17

https://dl.doubtnut.com/l/_x1ZyCKCQ49EN
https://dl.doubtnut.com/l/_fmAKm882IgjD
https://dl.doubtnut.com/l/_IBczArMqL8qF


28. The decimal expansion of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

27
14

1. ¯̄¯̄¯̄¯̄¯̄¯̄¯̄9285714

1.9̄ ¯̄¯̄¯̄¯̄¯̄¯285714

1.9285714

0.19̄ ¯̄̄ ¯̄̄ ¯̄¯285714

29.  is a…… number.

A. prime

B. composite

C. irrational

D. rational

5.67891̄

https://dl.doubtnut.com/l/_wO7r2vm5tYUw
https://dl.doubtnut.com/l/_0ajYkYHgGxWt


Answer: D

Watch Video Solution

30.  is ………. Number

A. prime

B. composite

C. irrational

D. Rational

Answer: C

Watch Video Solution

0.12  112  1112  11112…….

31.  is …….. Number.

A. Natural

√2 − 2

https://dl.doubtnut.com/l/_0ajYkYHgGxWt
https://dl.doubtnut.com/l/_f4b3C423TYBA
https://dl.doubtnut.com/l/_R7sxrBqiqOla


B. rational

C. whole

D. an irrational

Answer: D

Watch Video Solution

32.  is ……. Number.

A. composite

B. natural

C. negative

D. none

Answer: A

Watch Video Solution

3 × 5 × 7 × 11 + 35

https://dl.doubtnut.com/l/_R7sxrBqiqOla
https://dl.doubtnut.com/l/_6ttzUaiwL4tL
https://dl.doubtnut.com/l/_4pDZMSeTEdM8


33. The decimal expansion of  terminates after…… places.

A. 5

B. 6

C. 4

D. 9

Answer: C

Watch Video Solution

209

80

34.  is divisible by………

A. 

B. 

C. 

D. 

7 × 11 × 17 + 34

7 or 10

7 or 19

17 or 79

8 or 231

https://dl.doubtnut.com/l/_4pDZMSeTEdM8
https://dl.doubtnut.com/l/_LwdNEoU3KSd9


Answer: C

Watch Video Solution

35.  has……… decimal expansion.

A. non-terminating

B. Terminating

C. Non-terminating, repeating

D. none

Answer: B

Watch Video Solution

73
625

36. The number of prime factors of 1024 is…….

A. 12

https://dl.doubtnut.com/l/_LwdNEoU3KSd9
https://dl.doubtnut.com/l/_DV7sYUSCoF7f
https://dl.doubtnut.com/l/_GMykaAKBc695


B. 1

C. 7

D. 10

Answer: B

Watch Video Solution

37. The decimal expansion of  is…….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

101

99

1. ¯̄̄¯02

1. ¯̄̄¯07

1. ¯̄̄¯39

4. ¯̄̄¯14

https://dl.doubtnut.com/l/_GMykaAKBc695
https://dl.doubtnut.com/l/_QzOZJAguldVT
https://dl.doubtnut.com/l/_hrlu98d3TUih


38. The period of the decimal expansion of  is……..

A. 

B. 

C. 

D. None

Answer: B

Watch Video Solution

19

21

917461

904761

940761

39. If a rational number  has a terminating decimal, then the prime

factorisation of q is of the form……….

A. 

B. 

C. 

D. 

p/q

3m5n

3m

3m5n3p

2m5n

https://dl.doubtnut.com/l/_hrlu98d3TUih
https://dl.doubtnut.com/l/_US0R50vUis5Y


Answer: D

Watch Video Solution

40. The prime factorisation of 20677 is……………

A. 

B. 

C. 

D. None

Answer: B

Watch Video Solution

13 × 29 × 71

23 × 29 × 31

19 × 23 × 17

41. The LCM of 208 and 209 is………..

A. 208 × 109

https://dl.doubtnut.com/l/_US0R50vUis5Y
https://dl.doubtnut.com/l/_R4PlX5ATcTtv
https://dl.doubtnut.com/l/_KL76c3aZnjD8


B. 

C. 

D. 

Answer: D

Watch Video Solution

19 × 218

104 × 20

208 × 209

42. The HCF of 1001 and 1002 is…….

A. 1

B. 7

C. 9

D. 11

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KL76c3aZnjD8
https://dl.doubtnut.com/l/_3zi3PE7H5ffe
https://dl.doubtnut.com/l/_vccmsppwa9SX


43. If  are co-primes then their LCM is……..

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P1, P2, P3, …. . , Pn

P3P5P7

P6P7…. Pn

P1P2…. Pn

P2P4…. . Pn

44. Find the HCF of 64 and 72

Watch Video Solution

45. The decimal expansion of  without actual division is…….

A. 

7
16

0.4375

https://dl.doubtnut.com/l/_vccmsppwa9SX
https://dl.doubtnut.com/l/_LcJmkSzdJszY
https://dl.doubtnut.com/l/_rYqetzBbrw5X


B. 

C. 

D. 

Answer: A

Watch Video Solution

4.375

43.75

0.0004375

46.  is an ……. Number.

A. natural

B. irrational

C. rational

D. none

Answer: B

Watch Video Solution

0.3030030003…

https://dl.doubtnut.com/l/_rYqetzBbrw5X
https://dl.doubtnut.com/l/_VAJpSUlw2RVC
https://dl.doubtnut.com/l/_MAXfWh2ttS6x


47.  is……… number.

A. whole

B. irrational

C. rational

D. none

Answer: C

Watch Video Solution

743.211111……….

48. The logarithmic form of  is………….

A. 

B. 

C. 

D. 

122 = 144

log144 12 = 2

log12 144 = 2

log12 14 = 2

log7 14 = 2

https://dl.doubtnut.com/l/_MAXfWh2ttS6x
https://dl.doubtnut.com/l/_nmJjPNFQmNo5


Answer: B

Watch Video Solution

49. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

log = ………
125

16

3 log 5 − log 4

log 5 − log 3

3 log 5 − log 2

3 log 5 − 4 log 2

50.  in the expanded form is…………

A. 

log
x2y3z4

w5

2 logx + 3 logy + 4 log z − 5 logw

https://dl.doubtnut.com/l/_nmJjPNFQmNo5
https://dl.doubtnut.com/l/_jaOUvNCsVHw6
https://dl.doubtnut.com/l/_ePZfxlbTqELq


B. 

C. 

D. None

Answer: A

Watch Video Solution

logx + logy + 4 log z − 5 logw

2 logx − 3 logy − 4 log z − 5 logw

51. Logarithmic form of  is…….

A. 

B. 

C. 

D. None

Answer: B

Watch Video Solution

192 = 361

log361 19 = 2

log19 361 = 2

log19 36 = 1

https://dl.doubtnut.com/l/_ePZfxlbTqELq
https://dl.doubtnut.com/l/_7Redm8aPgygX
https://dl.doubtnut.com/l/_nEeGp7k52Hid


52. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

log 81 × 25 = ………. .

log 3 + log 5

3 log 3 + 5 log 5

log 3 + log 5 log 5

4 log 3 + 2 log 5

53.  is………decimal.

A. terminating

B. non-terminating

C. non-terminating repeating

D. none

12

125

https://dl.doubtnut.com/l/_nEeGp7k52Hid
https://dl.doubtnut.com/l/_Xlg15P1KljAD


Answer: A

Watch Video Solution

54.  is… decimal.

A. non-terminating repeating

B. terminating

C. non-terminating

D. none

Answer: C

Watch Video Solution

27
82

55.  is…….. Number.

A. natural

√5 + √7

https://dl.doubtnut.com/l/_Xlg15P1KljAD
https://dl.doubtnut.com/l/_cpGmhsO3O7u1
https://dl.doubtnut.com/l/_Kpu2ZFNNgMcV


B. whole

C. integer

D. an irrational

Answer: D

Watch Video Solution

56. The expansion of  terminating after….. Places.

A. 6

B. 4

C. 14

D. 9

Answer: B

Watch Video Solution

87
625

https://dl.doubtnut.com/l/_Kpu2ZFNNgMcV
https://dl.doubtnut.com/l/_MQJvPig7zXzz
https://dl.doubtnut.com/l/_w1uZ31wb10WJ


57. The expansion of  terminates after………places.

A. 9

B. 7

C. 3

D. none

Answer: C

Watch Video Solution

123

125

58. The decimal form of  repeats after……..places.

A. 16

B. 12

C. 7

D. none

80

81

https://dl.doubtnut.com/l/_w1uZ31wb10WJ
https://dl.doubtnut.com/l/_ObQPe4DYfRHR


Answer: D

Watch Video Solution

59.  is a……….decimal.

A. terminating

B. non-terminating

C. non-terminating-repeating

D. none

Answer: C

Watch Video Solution

70

71

60.  is a………decimal.

A. terminating

123

125

https://dl.doubtnut.com/l/_ObQPe4DYfRHR
https://dl.doubtnut.com/l/_Cele38vAkj2H
https://dl.doubtnut.com/l/_FT9fTtcsj4Zd


B. non-terminating

C. non-terminating-repeating

D. none

Answer: A

Watch Video Solution

61.  may certain the denominator when expressed in  form

is………..

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

14.381 p/q

83 × 63

123 × 43

23 × 53

73 × 83

https://dl.doubtnut.com/l/_FT9fTtcsj4Zd
https://dl.doubtnut.com/l/_ClbRNoQQv832


62. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5√5 + 6√5 − 2√5 = ……. .

6√5

7√5

2√5

9√5

63. 

A. 16

B. 18

C. 19

D. 20

9√2 × √2 = ………. .

https://dl.doubtnut.com/l/_ClbRNoQQv832
https://dl.doubtnut.com/l/_5n2tkS84LCSL
https://dl.doubtnut.com/l/_2cFfN4zJ5ZXl


Answer: B

Watch Video Solution

64. 

A. 0

B. 

C. 1

D. 7

Answer: C

Watch Video Solution

log10 10 = ………. .

−1

65. 

A. 4

loga = ……. .
1

a

https://dl.doubtnut.com/l/_2cFfN4zJ5ZXl
https://dl.doubtnut.com/l/_UYl4DzLQAVa6
https://dl.doubtnut.com/l/_wLMtEohDHi9K


B. 3

C. 

D. 12

Answer: C

Watch Video Solution

−1

66. 

A. 7

B. 3

C. 4

D. 1

Answer: D

Watch Video Solution

logb a. loga b = ………….

https://dl.doubtnut.com/l/_wLMtEohDHi9K
https://dl.doubtnut.com/l/_KNNUk3OYtRKY
https://dl.doubtnut.com/l/_F3XQX9whs0pX


67. 

A. 1

B. 

C. 0

D. not defined

Answer: D

Watch Video Solution

log1 1 = ………

−1

68. 

A. 8

B. 6

C. 9

D. none

log0.1 0.01 = ……………. .

https://dl.doubtnut.com/l/_F3XQX9whs0pX
https://dl.doubtnut.com/l/_00xkye4MBvx5


Answer: D

Watch Video Solution

69. 

A. 1

B. 2

C. 9

D. 12

Answer: A

Watch Video Solution

log 2 + log 5 = ………….

70.  then 

A. 9

16 × 64 = 4k k = ………….

https://dl.doubtnut.com/l/_00xkye4MBvx5
https://dl.doubtnut.com/l/_3eWQA5gb4yw2
https://dl.doubtnut.com/l/_tfVoaPLAwIHS


B. 12

C. 5

D. 19

Answer: C

Watch Video Solution

71.  is called……..property.

A. Associative

B. Identity

C. Inverse

D. Commutative

Answer: D

Watch Video Solution

a + b = b + a

https://dl.doubtnut.com/l/_tfVoaPLAwIHS
https://dl.doubtnut.com/l/_SugfQK5Ol9Y7
https://dl.doubtnut.com/l/_NskFwtPVDoqr


72. 

A. 5

B. 3

C. 15

D. 12

Answer: B

Watch Video Solution

log5 125 = ………. .

73. Exponential form of  is………

A. 

B. 

C. 

D. none

log4 64 = 3

43 = 64

34 = 64

42 = 81

https://dl.doubtnut.com/l/_NskFwtPVDoqr
https://dl.doubtnut.com/l/_MSUBKqOA5PLp


Answer: A

Watch Video Solution

74. 

A. 

B. 

C. 

D. all the above

Answer: C

Watch Video Solution

log 15 = ……….

log 5 + log 10

log 3 + log 12

log 5 + log 3

75.  is……number.

A. rational

1

√2

https://dl.doubtnut.com/l/_MSUBKqOA5PLp
https://dl.doubtnut.com/l/_x995g6OsPz47
https://dl.doubtnut.com/l/_PtMKpb0ljRwy


B. an irrational

C. a prime number

D. whole

Answer: B

Watch Video Solution

76. 

A. P

B. C

C. R

D. none

Answer: C

Watch Video Solution

Q ∪ QC = ……………

https://dl.doubtnut.com/l/_PtMKpb0ljRwy
https://dl.doubtnut.com/l/_Y1Mh0XjXP8as
https://dl.doubtnut.com/l/_gL9DAlr3lNeD


77. …………… is called the additive identity.

A. 0

B. 1

C. 2

D. none

Answer: A

Watch Video Solution

78.  then 

A. 

B. 

C. 

D. 

√2 = 1.414 3√2 = ………

2.42

13.42

42.42

4.242

https://dl.doubtnut.com/l/_gL9DAlr3lNeD
https://dl.doubtnut.com/l/_ptqEerJtQMOY


Answer: D

Watch Video Solution

79. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= …………
23

23.52

11.5

0.115

1.15

115.1

80. 

A. 

0.9375 = …………. .

15

16

https://dl.doubtnut.com/l/_ptqEerJtQMOY
https://dl.doubtnut.com/l/_jtoi5mbaxVeC
https://dl.doubtnut.com/l/_hmN662fxx2t1


B. 

C. 

D. 

Answer: A

Watch Video Solution

5

16

16

15

18

1199

81. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4 = ……………
1

5

4.12

4.2

0.42

4.02

https://dl.doubtnut.com/l/_hmN662fxx2t1
https://dl.doubtnut.com/l/_4EHrq0t7vUcj
https://dl.doubtnut.com/l/_FrJc28BYmr1V


82. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= ………….
5

11

0. ¯̄̄¯43

0. ¯̄̄¯44

0. ¯̄̄¯31

0. ¯̄̄¯45

83. LCM of 12, 15 and 21 is………

A. 420

B. 440

C. 820

D. 110

https://dl.doubtnut.com/l/_FrJc28BYmr1V
https://dl.doubtnut.com/l/_2LzG09RBky8F


Answer: A

Watch Video Solution

84. 

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

0.4 = …………. .

2

5

5

2

1

9

85. 

A. 

√ = …………. .
4

9

3

2

https://dl.doubtnut.com/l/_2LzG09RBky8F
https://dl.doubtnut.com/l/_PGkoP7sHosvL
https://dl.doubtnut.com/l/_kN3qVCmPLW8V


B. 

C. 

D. 

Answer: B

Watch Video Solution

2

3

√2

3

2

√3

86. HCF of 12, 18 is…………..

A. 12

B. 9

C. 2

D. 6

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_kN3qVCmPLW8V
https://dl.doubtnut.com/l/_tAkkL9GXDuG0
https://dl.doubtnut.com/l/_8T7FhNPQbxbw


87. 

A. 240

B. 144

C. 140

D. 909

Answer: C

Watch Video Solution

22 × 5 × 7 = ………

88. 

A. 

B. 2

C. 1

D. 0

loga 1 = …………. a > 0

a2

https://dl.doubtnut.com/l/_8T7FhNPQbxbw
https://dl.doubtnut.com/l/_SVHcxpnI8irk


Answer: D

Watch Video Solution

89. 

A. 15

B. 1

C. 5

D. 0

Answer: B

Watch Video Solution

log2015 2015 = ………. .

90. Multiplicative inverse of  is……

A. 

3
1

3

3
1

3

https://dl.doubtnut.com/l/_SVHcxpnI8irk
https://dl.doubtnut.com/l/_MK7f53rf9q59
https://dl.doubtnut.com/l/_Q5vdbVcdGkrc


B. 

C. 

D. 

Answer: C

Watch Video Solution

3

13

3

10

3

14

91.  is called…… property.

A. Associative

B. Inverse

C. identity

D. None

Answer: A

Watch Video Solution

(ab)c = a(bc)

https://dl.doubtnut.com/l/_Q5vdbVcdGkrc
https://dl.doubtnut.com/l/_sRSeL3LwuJCJ
https://dl.doubtnut.com/l/_JmEkJomv91Nv


92. 

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

= ……….
41

75

41

3 × 52

41

32 × g2

1

3 × 52

93. 

A. 4

B. 7

C. 1

D. None

log 64 − log 4 = ………. .

https://dl.doubtnut.com/l/_JmEkJomv91Nv
https://dl.doubtnut.com/l/_2fY4i49pj3Nc


Answer: D

Watch Video Solution

94. LCM of 306 and 657 is……..

A. 22338

B. 23238

C. 11128

D. None

Answer: A

Watch Video Solution

95. 

A. 1.675

= …………
1167
50

https://dl.doubtnut.com/l/_2fY4i49pj3Nc
https://dl.doubtnut.com/l/_FvsQPnTUgiAB
https://dl.doubtnut.com/l/_4PvCTxhAdcat


B. 23.34

C. 81.45

D. None

Answer: B

Watch Video Solution

96.  can not end with……….

A. 6

B. 0

C. 8

D. None

Answer: B

Watch Video Solution

6n

https://dl.doubtnut.com/l/_4PvCTxhAdcat
https://dl.doubtnut.com/l/_pYIh9lfQXErb
https://dl.doubtnut.com/l/_vDPkuJLeGVtt


97. 

A. 405

B. 54

C. 45

D. 55

Answer: C

Watch Video Solution

√2025 = ………

98. 

A. 1325

B. 1125

C. 125

D. 1859

53 = ……. .

https://dl.doubtnut.com/l/_vDPkuJLeGVtt
https://dl.doubtnut.com/l/_ruuHJhSwJWHF


Answer: C

Watch Video Solution

99. 

A. 0.375

B. 3.75

C. 8.175

D. None

Answer: A

Watch Video Solution

= ………….
3

8

100. 

A. 

√5 = ……….

1.414

https://dl.doubtnut.com/l/_ruuHJhSwJWHF
https://dl.doubtnut.com/l/_zKtsNEIlTA5x
https://dl.doubtnut.com/l/_GGNWBC572uwf


B. 2.236

C. 1.73

D. 2.998

Answer: B

Watch Video Solution

101. 

A. 2

B. 8

C. 4

D. 12

Answer: C

Watch Video Solution

log2 16 = …………

https://dl.doubtnut.com/l/_GGNWBC572uwf
https://dl.doubtnut.com/l/_ZQ7VnEj3Xigg
https://dl.doubtnut.com/l/_YRGfGmhPO9fo


102. 

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

2 log 3 + 3 log 5 − 5 log 2 = ……. .

log
1125

32

log
125

23

log
1025

16

103. 

A. 16

B. 20

C. 19

D. 10

log2 1024 = ……….

https://dl.doubtnut.com/l/_YRGfGmhPO9fo
https://dl.doubtnut.com/l/_O4TQlP40hN1v


Answer: D

Watch Video Solution

104. 

A. 2

B. 16

C. 19

D. 12

Answer: A

Watch Video Solution

log18 324 = ……….

105. 

A. 3

log3 = ……. .
1

27

https://dl.doubtnut.com/l/_O4TQlP40hN1v
https://dl.doubtnut.com/l/_ufkgOFT3vOqJ
https://dl.doubtnut.com/l/_rjhfStW4BMvt


B. 6

C. 

D. 

Answer: C

Watch Video Solution

−3

−7

106. 

A. 12

B. 19

C. 7

D. 0

Answer: D

Watch Video Solution

log6 1 = …….

https://dl.doubtnut.com/l/_rjhfStW4BMvt
https://dl.doubtnut.com/l/_skrXVOQGHjz9
https://dl.doubtnut.com/l/_0FFLmUMozpHz


107. 

A. 9

B. 6

C. 4

D. None

Answer: C

Watch Video Solution

128 ÷ 32 = .............

108. 

A. 4

B. 3

C. 2

D. None

log10 10000 = ……………

https://dl.doubtnut.com/l/_0FFLmUMozpHz
https://dl.doubtnut.com/l/_xDBTfn0rSpTZ


Answer: A

Watch Video Solution

109. 

A. 

B. 

C. 1

D. 

Answer: B

Watch Video Solution

log27 9 = ………. .

3

2

2

3

1

2

110. 

A. 1

log7 √49 = …………

https://dl.doubtnut.com/l/_xDBTfn0rSpTZ
https://dl.doubtnut.com/l/_ZFTSHlEHnacU
https://dl.doubtnut.com/l/_gUssWPgbfgVK


B. 10

C. 11

D. 12

Answer: A

Watch Video Solution

111. Expand form of log 1000 is

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

3 log 2 + 3 log 5

2 log 2 + log 5

log 2 − log 5

https://dl.doubtnut.com/l/_gUssWPgbfgVK
https://dl.doubtnut.com/l/_LRYHObCRUzhV
https://dl.doubtnut.com/l/_k3rzsRD0f8Uy


112. 

A. 

B. 

C. 

D. None

Answer: B

Watch Video Solution

(logx) − (logy) − ……. .
3

2

log
√x3

y2

log√
x3

y2

log
x3

y2

113. 

A. 3.1251

B. 1.15

C. 3.25

D. None

= ……….
13

4

https://dl.doubtnut.com/l/_k3rzsRD0f8Uy
https://dl.doubtnut.com/l/_95hhh3PBdQXB


Answer: C

Watch Video Solution

114. 

A. 12

B. 10

C. 9

D. 2

Answer: D

Watch Video Solution

(√7 + √5)(√7 − √5) = ...............

115. 

A. 

2√3 + 7√3 + √3 = ……………. .

110√3

https://dl.doubtnut.com/l/_95hhh3PBdQXB
https://dl.doubtnut.com/l/_gmwA7O8d1v16
https://dl.doubtnut.com/l/_WkgRYpxlqsBr


B. 

C. 

D. 

Answer: D

Watch Video Solution

7√3

9√3

10√3

116. 

A. 9

B. 10

C. 3

D. 12

Answer: A

Watch Video Solution

log2 512 = ……….

https://dl.doubtnut.com/l/_WkgRYpxlqsBr
https://dl.doubtnut.com/l/_85IDh9Zg9lPA
https://dl.doubtnut.com/l/_5MRREpYg6PXS


117. Logarithmic form of  is……….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ax = b

logb x = a

logx b = a

logb a = x

loga b = x

118. 

A. 10009

B. 10090

C. 10000

D. None

104 = ………. .

https://dl.doubtnut.com/l/_5MRREpYg6PXS
https://dl.doubtnut.com/l/_5hGZm0ADvBsy


Answer: C

Watch Video Solution

119. ………… has no multiplication inverse.

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

9

7

2

3

9

14

120. 

A. 101

| − 203| = ………….

https://dl.doubtnut.com/l/_5hGZm0ADvBsy
https://dl.doubtnut.com/l/_sqC8HlRrgCtp
https://dl.doubtnut.com/l/_FmiTzbdH1ZcE


B. 

C. 302

D. 203

Answer: D

Watch Video Solution

−203

121. 

A. 6

B. 4

C. 2

D. None

Answer: D

Watch Video Solution

log3 = ……. .
1

9

https://dl.doubtnut.com/l/_FmiTzbdH1ZcE
https://dl.doubtnut.com/l/_4Pxk2VTcwigS
https://dl.doubtnut.com/l/_PseBWOCraM1t


122. HCF of 1 and 143=……….`

A. 1

B. 43

C. 34

D. 10

Answer: A

Watch Video Solution

123. 

A. 

B. 

C. 

D. 

a(b + c) = ………………

ab + c

bc + d

ab + ac

a + bc

https://dl.doubtnut.com/l/_PseBWOCraM1t
https://dl.doubtnut.com/l/_iW7G5e7bexLf


Answer: C

Watch Video Solution

124.  is called…………….

A. Inverse

B. Identity

C. Commutative

D. None

Answer: A

Watch Video Solution

a + ( − a) = ( − a) + a

125. 

A. 

log32 = ………
1

4

1

4

https://dl.doubtnut.com/l/_iW7G5e7bexLf
https://dl.doubtnut.com/l/_phRHr8y76FSS
https://dl.doubtnut.com/l/_Gq3RGhccNV3M


B. 

C. 

D. 

Answer: D

Watch Video Solution

1

2

−5

2

−2

5

126. 

A. 2

B. 6

C. 

D. None

Answer: A

Watch Video Solution

log10 100 = ……………

0.1

https://dl.doubtnut.com/l/_Gq3RGhccNV3M
https://dl.doubtnut.com/l/_mAFiaL6siiQz
https://dl.doubtnut.com/l/_BHaVJu1jcnd8


127. 

A. 161

B. 122

C. 112

D. 113

Answer: C

Watch Video Solution

√12544 = ……………

128. 

A. ab

B. 

C. 

D. 

√a × √b = ……………

b√a

a√b

√ab

https://dl.doubtnut.com/l/_BHaVJu1jcnd8
https://dl.doubtnut.com/l/_EoZ8Zgp2D0F1


Answer: D

Watch Video Solution

129. Which of the following is a correct one?

A. 

B. 

C. 

D. All of the above

Answer: B

Watch Video Solution

N ⊂ Z ⊂ W

N ⊂ W ⊂ Z

R ⊂ N ⊂ W

130. 

A. 

logx = ………………
a

b

logx a − logx b

https://dl.doubtnut.com/l/_EoZ8Zgp2D0F1
https://dl.doubtnut.com/l/_aujxr64Akljd
https://dl.doubtnut.com/l/_79avYjLevg0E


B. 

C. 

D. None

Answer: A

Watch Video Solution

logx a + logx b

logx ab

131. If  then ………….

A. 25

B. 3

C. 8

D. Not sure

Answer: A

Watch Video Solution

2x = y and log2 y = 3 (x − y)2

https://dl.doubtnut.com/l/_79avYjLevg0E
https://dl.doubtnut.com/l/_eRZwnkx7JDfo


REAL NUMBERS (MULTIPLE CHOICE QUESTION)

1. =…………..

A. Terminating decimal

B. Non-terminating and recurring

C. Non-terminating and non-recurring

D. None of the above

Answer: A

Watch Video Solution

9

15

2. =…………..

A. 0.375

B. 0.875

C. 0.0375

7
8

https://dl.doubtnut.com/l/_vavUt8Q483ZQ
https://dl.doubtnut.com/l/_bD7mViFqjvt7


D. 0.0875

Answer: B

Watch Video Solution

3. The number  is……………

A. Prime

B. Composite

C. Both prime and composite

D. Neither prime nor composite

Answer: B

Watch Video Solution

17 × 11 × 2 + 17 × 11 × 5

4. =.........(256)0.16 × (256)0.09

https://dl.doubtnut.com/l/_bD7mViFqjvt7
https://dl.doubtnut.com/l/_JYmUFlTsrMBW
https://dl.doubtnut.com/l/_gmz0nope5z51


A. 1

B. 2

C. 4

D. 8

Answer: C

Watch Video Solution

5. The H.C.F of 72 and 108 is………….

A. 9

B. 36

C. 216

D. 22338

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_gmz0nope5z51
https://dl.doubtnut.com/l/_baGdkqvlVVrO


6. IF  then the value of 'm' in terms of 'n' is……………

A. 

B. n

C. 

D. None

Answer: A

Watch Video Solution

(am)n = am
n

n
1

n− 1

mn

7.  then x=

A. p-q

B. p+q

C. 

= ( )
x(p + )

p

. (p − )
q

1
q

1
q

(q + )
p

. (q − )
q

1
p

1
p

p

q

p2

q2

https://dl.doubtnut.com/l/_baGdkqvlVVrO
https://dl.doubtnut.com/l/_RXWKgVUpsRAn
https://dl.doubtnut.com/l/_pdjAHxugNGa5


D. None

Answer: B

Watch Video Solution

8. IF  and abc=1 then x+y+z=…………..

A. 0

B. -1

C. 1

D. 2

Answer: A

Watch Video Solution

a = b = c
1
x

1
y

1
z

9. If  , then what is x equal to?a = x + √x2 + 1

https://dl.doubtnut.com/l/_pdjAHxugNGa5
https://dl.doubtnut.com/l/_r92UXutWC2IA
https://dl.doubtnut.com/l/_fRfO3DwYznpI


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(a + )
1

2

1

a

(a − a− 1)
1

2

(a2 + )
1

2

1

a2

(a)
1

2

10. IF  and xyz=288 then =……………

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x = 4y = 8z + +
1

2x

1

4y

1

8z

96
11

11

96

1

9

6
11

https://dl.doubtnut.com/l/_fRfO3DwYznpI
https://dl.doubtnut.com/l/_18RXBU6OjyFu


11. IF  then 

=............

A. -1

B. 0

C. 1

D. 

Answer: C

Watch Video Solution

x = , y = , z =
a − b

a + b

b − c

b + c

c − a

c + a

(1 + x)(1 + y)(1 + z)

(1 − x)(1 − y)(1 − z)

a + b + c

a − b − c

12. IF and  then =........

A. 

B. 

a = 51 / 3 + 5− 1 / 3 b = 51 / 3 − 5− 1 / 3 a3 − 3a

b3 + 3b

13

12

12

13

https://dl.doubtnut.com/l/_18RXBU6OjyFu
https://dl.doubtnut.com/l/_jYqoJcPd2UtS
https://dl.doubtnut.com/l/_kvAcUkG5v8FN


C. 0

D. 1

Answer: A

Watch Video Solution

13. IF  then =

A. 2y

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax = by = cz, b2 = ac +
1

x

1

z

2

y

2y2

y

2

https://dl.doubtnut.com/l/_kvAcUkG5v8FN
https://dl.doubtnut.com/l/_83cPHdZj3X8Q


14. IF  then =…………

A. b

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1.234)a = (0.1234)b = 10c −
1

a

1

c

b2

−b

1

b

15. IF  then =…………

A. 1

B. 2

C. 3

D. 4

x = 3√√2 + 1 − 3√√2 − 1 x3 + 3x

https://dl.doubtnut.com/l/_9HHAHzqP7TGC
https://dl.doubtnut.com/l/_JKgs3VbVdYQv


Answer: B

Watch Video Solution

16. IF a+b+c=0 then 

=

A. 3

B. 

C. 

D. -3

Answer: B

Watch Video Solution

a2 + b2 + c2

(a − b)
2

+ (b − c)
2

+ (c − a)
2

3− 1

32

17. IF log 6789=2.8318, then the number of digits in  is(678.9)
100

https://dl.doubtnut.com/l/_JKgs3VbVdYQv
https://dl.doubtnut.com/l/_Bo6FB3mr2YaW
https://dl.doubtnut.com/l/_nuesDCF7Z7rg


A. 183

B. 283

C. 184

D. 284

Answer: D

Watch Video Solution

18. IF  then x=…………..

A. 3

B. 9

C. 27

D. 2

Answer: B

Watch Video Solution

log3 x + log9 x + log27 x + log729 x = 4

https://dl.doubtnut.com/l/_nuesDCF7Z7rg
https://dl.doubtnut.com/l/_Bqp6qGGRyu1Y


19. IF  then 


 =…………..

A. f(a)

B. 2.f(a)

C. 

D. None

Answer: A

Watch Video Solution

f(a) = log( )
2 + a

2 − a

f( )
1

2

8a

4 + a2

f(a)
1

2

20. 

A. 2

B. 0

log10 tan 1∘ + log10 tan 2∘ + log10 tan 3∘ + ...... + log10 tan 89∘ = ..........

https://dl.doubtnut.com/l/_Bqp6qGGRyu1Y
https://dl.doubtnut.com/l/_asnPz0DMVaob
https://dl.doubtnut.com/l/_TTe4BoRpZcnk


C. -1

D. 1

Answer: B

Watch Video Solution

21. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log8 128 =

7
3

3

7

2

7

1

3

https://dl.doubtnut.com/l/_TTe4BoRpZcnk
https://dl.doubtnut.com/l/_0uUjoj3Mh7ul


EXERCISE

22. IF  then log(2a+3b)=………..

A. 

B. log a+log b

C. log 37ab

D. 

Answer: A

Watch Video Solution

4a2 + 9b2 = 37ab

(loga + log b) + log 7
1

2

log( )
a

b

1. Show that  is irrational.

Watch Video Solution

√2

https://dl.doubtnut.com/l/_ddjgxyDM6Nzl
https://dl.doubtnut.com/l/_funqNPmAZd6T


2. Show that  is irrational.

Watch Video Solution

5 − √3

3. Show that  is irrational.

Watch Video Solution

3√2

4. Prove that  is irrational.

Watch Video Solution

√2 + √3

5. Prove that the following are irrational. (i) 

Watch Video Solution

1

√2

6. Prove that the following are irrational. (ii) √3 + √5

https://dl.doubtnut.com/l/_YmLkpugI6RQx
https://dl.doubtnut.com/l/_EbOAiuwVhIYM
https://dl.doubtnut.com/l/_yMIrqxWDLDbc
https://dl.doubtnut.com/l/_sX0bKimFm7WB
https://dl.doubtnut.com/l/_JozgsooD9F7s


Watch Video Solution

7. Prove that the following are irrational. (iii) 

Watch Video Solution

6 + √2

8. Prove that the following are irrational. (iv) 

Watch Video Solution

√5

9. Prove that the following are irrational. (v) 

Watch Video Solution

3 + 2√5

10. Prove that  is an irrational, where p,q are primes.

Watch Video Solution

√p + √q

https://dl.doubtnut.com/l/_JozgsooD9F7s
https://dl.doubtnut.com/l/_h7mtKcs9IFS4
https://dl.doubtnut.com/l/_4reCAkwFhzhg
https://dl.doubtnut.com/l/_34FDE42uZdvs
https://dl.doubtnut.com/l/_Ai8svc6NKz11


11. Evaluate 

Watch Video Solution

21

12. Evaluate 

Watch Video Solution

(4.73)0

13. Evaluate 

Watch Video Solution

03

14. Evaluate 

( − 1)4

https://dl.doubtnut.com/l/_zl13L8LBSncm
https://dl.doubtnut.com/l/_Gk5INNiHsjPe
https://dl.doubtnut.com/l/_XwwYscobT1o9
https://dl.doubtnut.com/l/_oCu0bCHrij5W


Watch Video Solution

15. Evaluate 

Watch Video Solution

(0.25) − 1

16. Evaluate 

Watch Video Solution

( )
2

5

4

17. Evaluate 

Watch Video Solution

(1 )
21

4

https://dl.doubtnut.com/l/_oCu0bCHrij5W
https://dl.doubtnut.com/l/_5wS2ZldOUgzY
https://dl.doubtnut.com/l/_XCGoTO3ZJrDp
https://dl.doubtnut.com/l/_41xD5DrB6Htc


18. Express 10, 100, 1000, 10000, 100000 is exponential form.

Watch Video Solution

19. Express in simplest exponential form: 

Watch Video Solution

16 × 54

20. Express in simplest exponential form: 

Watch Video Solution

25 × 125

21. Express in simplest exponential form: 

Watch Video Solution

128 ÷ 32

https://dl.doubtnut.com/l/_oAWD5vtW2Nkn
https://dl.doubtnut.com/l/_6sHAJVGclXQV
https://dl.doubtnut.com/l/_LnKZKXYZbBEa
https://dl.doubtnut.com/l/_FziYuEYoVOj8


22. Write the following in logarithmic form. 

Watch Video Solution

7 = 2x

23. Write the following in logarithmic form. 

Watch Video Solution

10 = 5b

24. Write the following in logarithmic form. 

Watch Video Solution

= 3c
1

81

25. Write the following in logarithmic form. 

100 = 10z

https://dl.doubtnut.com/l/_3k7FIyrj3Qzz
https://dl.doubtnut.com/l/_hPzqftELceJb
https://dl.doubtnut.com/l/_N0G3RTK2fjNq
https://dl.doubtnut.com/l/_IZwKUm9O2gaM


Watch Video Solution

26. Write the following in logarithmic form. 

Watch Video Solution

= 4a
1

257

27. Write the following in exponential form. 

Watch Video Solution

log10 100 = 2

28. Write the following in exponential form. 

Watch Video Solution

log5 25 = 2

https://dl.doubtnut.com/l/_IZwKUm9O2gaM
https://dl.doubtnut.com/l/_1yvtqtr02N1D
https://dl.doubtnut.com/l/_l2pvUuOXAt1J
https://dl.doubtnut.com/l/_sIUMoY3GXgXL


29. Write the following in exponential form. 

Watch Video Solution

log2 2 = 1

30. Write the following in exponential form: 

Watch Video Solution

x = log2 9

31.  విలువ =

Watch Video Solution

log2 32

32. Solve the following 

Watch Video Solution

log5 625 = y

https://dl.doubtnut.com/l/_8aR79mBMi1k5
https://dl.doubtnut.com/l/_w0TlXxPRWQH3
https://dl.doubtnut.com/l/_FnbvKx6puYQM
https://dl.doubtnut.com/l/_mksvdJlQxQVZ
https://dl.doubtnut.com/l/_wSvFYz2i5Lqz


33. 

Watch Video Solution

log10 10000 = ……………

34. Does  exist ? Give reason .

Watch Video Solution

log2 0

35. Prove: 

Watch Video Solution

logb b = 1

36. Prove: 

Watch Video Solution

logb 1 = 0

37. Prove: logb b
x = x

https://dl.doubtnut.com/l/_wSvFYz2i5Lqz
https://dl.doubtnut.com/l/_ypuRhVjsSs6T
https://dl.doubtnut.com/l/_EQ2gX7VmdR04
https://dl.doubtnut.com/l/_kKNjYv76VDIZ
https://dl.doubtnut.com/l/_F8vp4brMbLJV


Watch Video Solution

38. Prove: If , then , Is it correct or not?

Watch Video Solution

logx 16 = 2 x2 = 16 ⇒ x = ± 4

39. We know that  Show that you get the same answer

by writing  and then using product rule. Verify the

answer.

Watch Video Solution

log10 100000 = 5

100000 = 1000 × 100

40. Express the logarithms of the following into sum of the logarithms. (i)

Watch Video Solution

35 × 46

https://dl.doubtnut.com/l/_F8vp4brMbLJV
https://dl.doubtnut.com/l/_eOTM4pVOsMGy
https://dl.doubtnut.com/l/_aJlOJLWPMxaE
https://dl.doubtnut.com/l/_QZR0zhYgfW48


41. Express the logarithms of the following into sum of the logarithms.

(ii) 

Watch Video Solution

235 × 437

42. Express the logarithms of the following into sum of the logarithms.

(iii) 

Watch Video Solution

2437 × 3568

43. Theorem : (Quotient Rule) Let a, x and y be positive real numbers

where . Then 

Watch Video Solution

a ≠ 1 = loga x − loga y
logk x

y

44. Express the logarithms of the following into difference of the

logarithms. (i) 
23

34

https://dl.doubtnut.com/l/_Kt7oqw7yebD1
https://dl.doubtnut.com/l/_w2avgEMhLRRG
https://dl.doubtnut.com/l/_4uylsqnm9bPf
https://dl.doubtnut.com/l/_heblkAwLvSmi


Watch Video Solution

45. Express the logarithms of the following into difference of the

logarithms. (ii) 

Watch Video Solution

373
275

46. Express the logarithems of the following into difference of the

logarithem 

Watch Video Solution

4525 ÷ 3734

47. Express the logarithms of the following into difference of the

logarithms. (iv) 

Watch Video Solution

5055

3303

https://dl.doubtnut.com/l/_heblkAwLvSmi
https://dl.doubtnut.com/l/_GU6DJ1yRVLkH
https://dl.doubtnut.com/l/_HCfJH6UoGmvR
https://dl.doubtnut.com/l/_TXIs322cx46h
https://dl.doubtnut.com/l/_JF2v3Tz5H4f5


48. We know that  Let , then ,

then  (why?)

Watch Video Solution

(am)
n

= amn am = x m = loga xx
n = amn

loga x
n = mn = n loga x

49. We have  . Show that we get the same result by writing 

 and then using power rules. Verify the answer.

Watch Video Solution

log2 32 = 5

32 = 25

50. Using , expand the following : .

Watch Video Solution

loga x
n = n loga x log7

2 ^ 25

51. Note : : 

Watch Video Solution

logx = log10 x log25
27

https://dl.doubtnut.com/l/_JF2v3Tz5H4f5
https://dl.doubtnut.com/l/_9GRi0QNxpGzy
https://dl.doubtnut.com/l/_93waiDXPviM1
https://dl.doubtnut.com/l/_ATV5Kvqt56gE
https://dl.doubtnut.com/l/_q3OVq7GdPajd


52. Note : : 

Watch Video Solution

logx = log10 x log50
58

53. Note : : 

Watch Video Solution

logx = log10 x log 523

54. Note : : 

Watch Video Solution

logx = log10 x log 1024

55. Find the value of 

Watch Video Solution

log32
2

56. (ii) Find the values of 

W t h Vid S l ti

logc √c.

https://dl.doubtnut.com/l/_q3OVq7GdPajd
https://dl.doubtnut.com/l/_vgLAUKAUPRh9
https://dl.doubtnut.com/l/_0tS89cTxnbct
https://dl.doubtnut.com/l/_31qtqHHg5Q6N
https://dl.doubtnut.com/l/_6I8XITnWOZUk


Watch Video Solution

57. =

Watch Video Solution

log10 0.001

58. (iv) Find the value of .

Watch Video Solution

log 2
3

8

27

59. We know that, If  then  Then what is the value of 

? Justify your answer. Generalise the above by taking some more

examples for 

Watch Video Solution

7 = 2x x = log2 7.

2log2 7

alogaN .

60. Expand log 

Watch Video Solution

343
125

https://dl.doubtnut.com/l/_6I8XITnWOZUk
https://dl.doubtnut.com/l/_SJ5ZD32ElQnh
https://dl.doubtnut.com/l/_rf3GBhE0Jvwq
https://dl.doubtnut.com/l/_pNZe0Dffn4Mg
https://dl.doubtnut.com/l/_HPs8mSVV59DE


Watch Video Solution

61. Write  as a single logarithm.

Watch Video Solution

2 log 3 + 3 log 5 − 5 log 2

62. Solve 

Watch Video Solution

3x = 5x− 2.

63. Find  if 

Watch Video Solution

x 2 log 5 + log 9 − log 3 = logx.
1

2

64. Determine the values of the following. (i) 

Watch Video Solution

log25 5

https://dl.doubtnut.com/l/_HPs8mSVV59DE
https://dl.doubtnut.com/l/_2hGacSKItbzr
https://dl.doubtnut.com/l/_sv11qSpDqzuU
https://dl.doubtnut.com/l/_41UMfF4sWvBW
https://dl.doubtnut.com/l/_4evR6KgLaVSY
https://dl.doubtnut.com/l/_cUKES0Z94jsc


65. Determine the values of the following. (ii) 

Watch Video Solution

log81 3

66. Determine the values of the following. (iii) 

Watch Video Solution

log2( )
1

16

67. =

Watch Video Solution

log7 1

68. Determine the values of the following. (v) 

Watch Video Solution

logx √x

69. Determine the values of the following. (vi) log2 512

https://dl.doubtnut.com/l/_cUKES0Z94jsc
https://dl.doubtnut.com/l/_XlP7PZnYjG7v
https://dl.doubtnut.com/l/_HNFumaMbmywU
https://dl.doubtnut.com/l/_qm6U0rTaUhe4
https://dl.doubtnut.com/l/_oqiJ9WVTXlVz


Watch Video Solution

70.  =

Watch Video Solution

log10 0.01

71. Determine the values of the following. (viii) 

Watch Video Solution

log ( )2
3

8

27

72. Determine the values of the following. (ix) 

Watch Video Solution

22 + log2 3

73. Write the following expression as log N and find their values. (i)

Watch Video Solution

log 2 + log 5

https://dl.doubtnut.com/l/_oqiJ9WVTXlVz
https://dl.doubtnut.com/l/_QI8QUmo2UOus
https://dl.doubtnut.com/l/_wsgxqYnGnKlK
https://dl.doubtnut.com/l/_Xwv7Yl1VtOfQ
https://dl.doubtnut.com/l/_qWioPIabzOtX


74. Write the following expression as log N and find their values. (ii)

Watch Video Solution

log2 16 − log2 2

75. Write the following expression as log N and find their values. (iii)

Watch Video Solution

3 log64 4

76. Write the following expression as log N and find their values. (iv)

Watch Video Solution

2 log 3 − 3 log 2

77. log 10 +2 log 3 - log 2 =

h id l i

https://dl.doubtnut.com/l/_qWioPIabzOtX
https://dl.doubtnut.com/l/_beZ3ROjpof9w
https://dl.doubtnut.com/l/_vq1okpETC9vi
https://dl.doubtnut.com/l/_rWxQE18r64Dw
https://dl.doubtnut.com/l/_vf8z3MRRHnZX


Watch Video Solution

78. Evaluate each of the following in terms of x and y, if it is given

 (i) 

Watch Video Solution

x = log2 3 and y = log2 5. log2 15

79. Evaluate each of the following in terms of x and y, if it is given

 (ii) 

Watch Video Solution

x = log2 3 and y = log2 5. log2 7.5

80. Evaluate each of the following in terms of x and y, if it is given

 (iv) 

Watch Video Solution

x = log2 3 and y = log2 5. log2 6750

https://dl.doubtnut.com/l/_vf8z3MRRHnZX
https://dl.doubtnut.com/l/_NRbMeh4SRO9g
https://dl.doubtnut.com/l/_MgaHW4f71HpD
https://dl.doubtnut.com/l/_HOilVwgAvMQH


81. Evaluate each of the following in terms of x and y, if it is given

 (iv) 

Watch Video Solution

x = log2 3 and y = log2 5. log2 6750

82. Expand the following. (i) 

Watch Video Solution

log 1000

83. Expand the following. (ii) 

Watch Video Solution

log[ ]
128

625

84. Expand the following. (iii) 

Watch Video Solution

logx2y3z4

https://dl.doubtnut.com/l/_NZQqic7jJ1Gw
https://dl.doubtnut.com/l/_JzjCVQtcCOMr
https://dl.doubtnut.com/l/_BLHvlMBc82Ue
https://dl.doubtnut.com/l/_RnxjUES4qDMG


85. Expand the following. 

Watch Video Solution

log( )
p2q3

r4

86. Expand the following. (v) 

Watch Video Solution

log√
x3

y2

87. If  then prove that 

Watch Video Solution

x2 + y2 = 25xy.

2 log(x + y) = 3 log 3 + logx + logy.

88. If , then find the values of 

Watch Video Solution

log( ) = (logx + logy)
x + y

3

1

2
+ .

x

y

y

x

https://dl.doubtnut.com/l/_VvIfmCL02Cio
https://dl.doubtnut.com/l/_4oT6rT5m1xnE
https://dl.doubtnut.com/l/_SK2PiKEWgUNj
https://dl.doubtnut.com/l/_ZpJbHJfxtpWo


89. If  then find the value of .

Watch Video Solution

(2.3)x = (0.23)y = 1000 −
1

x

1

y

90. If  then find the value of x.

Watch Video Solution

2x+ 1 = 31 −x

91. Is (i) log 2 is rational or irrational ? Justify your answer.

Watch Video Solution

92. Is (ii) log 100 is rational or irrational ? Justify your answer.

Watch Video Solution

https://dl.doubtnut.com/l/_c1iBDHe4zvvI
https://dl.doubtnut.com/l/_MxDGSv2vle7B
https://dl.doubtnut.com/l/_harcXkhzd05k
https://dl.doubtnut.com/l/_1ffxsz9gYjpF


93. Can the number , n being a natural number, end with the digit 5 ?

Give reason.

Watch Video Solution

6n

94. Is  a composite number ? Justify your answer.

Watch Video Solution

7 × 5 × 3 × 2 + 3

95. Prove that  is an irrational number. Also check whether 

 is rational or irrational.

Watch Video Solution

(2√3 + √5)

(2√3 + √5)(2√3 − √5)

96. If  , prove that 2 log (x + y) = logx + logy + 3 log 2

Watch Video Solution

x2 + y2 = 6xy

https://dl.doubtnut.com/l/_a7BxhbaEJTqg
https://dl.doubtnut.com/l/_tA1dT3Ma19zl
https://dl.doubtnut.com/l/_PcGuUsgq9Y1D
https://dl.doubtnut.com/l/_DLne74jkk55R
https://dl.doubtnut.com/l/_L8Fz0i9mEOJj


97. Find the number of digit in , if .

Watch Video Solution

42013 log10 2 = 0.3010

98. Insert 4 rational numbers between  and 1 without using 

formula.

Watch Video Solution

3

4

a + b

2

99. If the prime factorization of a natural number (n) is

 How many consecutive zeroes will it have at the end

of it? Justify your answer.

Watch Video Solution

22 × 32 × 52 × 7.

100. Find the value of 

Watch Video Solution

log5 125.

https://dl.doubtnut.com/l/_L8Fz0i9mEOJj
https://dl.doubtnut.com/l/_xzXB6Z3dFND7
https://dl.doubtnut.com/l/_eZ5ci2VYF0Xg
https://dl.doubtnut.com/l/_vLOOS3K28Y7L


101. Write any two irrational numbers lying between 3 and 4.

Watch Video Solution

102. Find the value of 

Watch Video Solution

log√2 256.

103. Find the HCF and LCM of 90, 144 by prime factorisation method.

Watch Video Solution

104. Is  81 rational or irrational ? Justify your answer.

Watch Video Solution

log3

https://dl.doubtnut.com/l/_vLOOS3K28Y7L
https://dl.doubtnut.com/l/_jKnn15YiYT3Y
https://dl.doubtnut.com/l/_hfp8HqcvDmry
https://dl.doubtnut.com/l/_0u8eZtDKfkwq
https://dl.doubtnut.com/l/_qHNVha1TjsaV


105. Expand 

Watch Video Solution

log10 385.

106. Find the HCF of 64 and 72

Watch Video Solution

107. Find the value of .

Watch Video Solution

log√2 128

108. Ramu says, "If , value of ". Do you agree with him ?

Give reason.

Watch Video Solution

log10 x = 0 x = 0

https://dl.doubtnut.com/l/_fjDZjVix3kld
https://dl.doubtnut.com/l/_JZKGvDYHSlas
https://dl.doubtnut.com/l/_fjLCIhif9PzX
https://dl.doubtnut.com/l/_kArfirSt7ohf


109. Write any three numbers of two digit its. Find the LCM and HCF for

the above numbers by the Prime Factorization method.

Watch Video Solution

110. Give an example for each of the following: 

(i) The product of two irrational numbers is a rational number.

Watch Video Solution

111. Give an example for each of the following: 

(i) The product of two irrational numbers is a rational number.

Watch Video Solution

112. State with reasons which of the following are rational numbers and

which are irrantional numbers. (i) √225 × √4

https://dl.doubtnut.com/l/_fvO8FzL8AQUh
https://dl.doubtnut.com/l/_orhYbjplcVCq
https://dl.doubtnut.com/l/_tPpdJ837OKMs
https://dl.doubtnut.com/l/_2Szs2Hk3MGvH


Watch Video Solution

113. State with reasons which of the following are rational numbers and

which are irrantional numbers. (ii) 

Watch Video Solution

6√50 + 8√125

114. Expand .

Watch Video Solution

log( )
1125

32

115. (i) Express the numbers 6825 and 3825 as a product of its prime

factors.

Watch Video Solution

https://dl.doubtnut.com/l/_2Szs2Hk3MGvH
https://dl.doubtnut.com/l/_shhPzMdQVFXS
https://dl.doubtnut.com/l/_vZlWggcnY7ZL
https://dl.doubtnut.com/l/_8p5KOPrZ6fux


116. Find the HCF and LCM of the following given pairs of numbers by

prime facrtorization. (ii) 50,60

Watch Video Solution

117. If  then show that 

Watch Video Solution

x2 + y2 = 7xy

2 log(x + y) = logx + logy + 2 log 3.

118. Express 2016 and as product of prime factors.

Watch Video Solution

119. Write any two digit numbers. Find their L.C.M. and G.C.D. by prime

factorization method.

Watch Video Solution

https://dl.doubtnut.com/l/_WfFVhNw3VyyX
https://dl.doubtnut.com/l/_NgYFhxAN4XeM
https://dl.doubtnut.com/l/_XFTz1FCD1gWV
https://dl.doubtnut.com/l/_y7VetkO5ssuh


120. Prove that  is irrational.

Watch Video Solution

2 + √3

121. Show that 

Watch Video Solution

log + 2 log − log = log 2
162

343

7
9

1

7

122. Lalitha says that HCF and LCM of the numbers 80 and 60 are 20 and

120 respectively. Do you agree with her ? Justify.

Watch Video Solution

123. If , prove that 

.

Watch Video Solution

x2 + y2 = 10xy

2 log(x + y) = logx + logy + 2 log 2 + log 3

https://dl.doubtnut.com/l/_y7VetkO5ssuh
https://dl.doubtnut.com/l/_FURuiG8rJbeQ
https://dl.doubtnut.com/l/_lJgXvJ4Bk2wz
https://dl.doubtnut.com/l/_XzJ3WzEhL7UK
https://dl.doubtnut.com/l/_WkKW37h2nX1j


124. Use Euclid's division lemma to show that the cube of any positive

integer is of the form 7m or .

Watch Video Solution

7m + 1 or 7m + 6

125. Prove that  is a irrational number.

Watch Video Solution

√2 − 3√5

126. Use Euclid's division lemma, to show that the cube of any positive

integer is of the form  for any integer 'p'.

Watch Video Solution

3p or 3p + 1 or 3p + 2

127. Prove that  is an irrational number.

Watch Video Solution

√3 − √5

https://dl.doubtnut.com/l/_WkKW37h2nX1j
https://dl.doubtnut.com/l/_eKERvM7hnPqg
https://dl.doubtnut.com/l/_4rQKZzz98qgD
https://dl.doubtnut.com/l/_BYc0qhgjfF9N
https://dl.doubtnut.com/l/_cjZuMN4loQZ3


128. Use Euclid's division lemma to show that the square of any positive

integer is of the form  where n is a whole

number.

Watch Video Solution

5n or 5n + 1 or 5n + 4,

129. Use Euclid's division lemma to show that the square of any positive

integer is of the form  where n is a whole

number.

Watch Video Solution

5n or 5n + 1 or 5n + 4,

130. If , then show that .

Watch Video Solution

x2 + y2 = 27xy log( ) = [logx + logy]
x − y

5

1

2

https://dl.doubtnut.com/l/_cjZuMN4loQZ3
https://dl.doubtnut.com/l/_GMZxdL7Y3bL4
https://dl.doubtnut.com/l/_OYAYCQXNkbAy
https://dl.doubtnut.com/l/_aeoWhp7A4NoV


131. Prove that  is an irrational number.

Watch Video Solution

√3 + √5

132. Show that cube of any positive integer will be in the form of 8m or

 or  or  or , where m is a whole number.

Watch Video Solution

8m + 1 8m + 3 8m + 5 8m + 7

133. Prove that  is an irrational number.

Watch Video Solution

√2 + √11

134. Show that  is an irrational number.

Watch Video Solution

√5 − √3

https://dl.doubtnut.com/l/_gv2Yrv3d9MfT
https://dl.doubtnut.com/l/_2qu8QQFrkbvy
https://dl.doubtnut.com/l/_4am7RPDuv6rq
https://dl.doubtnut.com/l/_zdzrGLzhc7Qe


135. Write 210 as product of prime factors.

Watch Video Solution

136. If the HCF of 306 and 657 is 9 then find their LCM.

Watch Video Solution

137. Support the Fundamental theorem of Arithmetic by considering

some examples.

Watch Video Solution

138. Is the units digit in the value of  where 'n' is a natural number is

zero? Justify your answer.

Watch Video Solution

6n

https://dl.doubtnut.com/l/_1YPj2W9dW7Sq
https://dl.doubtnut.com/l/_FRMvvJFb6dgg
https://dl.doubtnut.com/l/_T2pKiXohLch7
https://dl.doubtnut.com/l/_QU5Ast7GmgQc
https://dl.doubtnut.com/l/_6I1nPXLqgf3h


139. Explain why 

are composite nubmers.

Watch Video Solution

7 × 11 × 13 + 13 and 7 × 6 × 5 × 4 × 3 × 2 × 1 + 5

140. Find the HCF of 45,75 from Euclid's division lemma.

Watch Video Solution

141. How do you say

 are composite

numbers? Explain it.

Watch Video Solution

7 × 11 × 13 + 13 and 7 × 6 × 5 × 4 × 3 × 2 × 1 + 5

142. Express the following in log forms. (i) 

Watch Video Solution

25 = 32

https://dl.doubtnut.com/l/_6I1nPXLqgf3h
https://dl.doubtnut.com/l/_zgRhSOw4HY6r
https://dl.doubtnut.com/l/_hLeqVkikwma3
https://dl.doubtnut.com/l/_TfPt2wsHAs8u


143. Express the following in log forms. (ii) 

Watch Video Solution

33 = 27

144. Express the following in log forms. (iii) 

Watch Video Solution

53 = 125

145. Calculate the value of .

Watch Video Solution

log2 512

146. Calculate the value of .

Watch Video Solution

log10 0.01

https://dl.doubtnut.com/l/_TfPt2wsHAs8u
https://dl.doubtnut.com/l/_m8jUFJsfgv4h
https://dl.doubtnut.com/l/_aX4gGyOLN2Zl
https://dl.doubtnut.com/l/_KNs27eR04HcB
https://dl.doubtnut.com/l/_JrCiTExUmaZ7


147. Express  in its exponential form.

Watch Video Solution

log5 125 = 3

148. Prove that 

Watch Video Solution

loga xy = loga x + loga y.

149.  ion concentration in a soap used by Sankar is .

Then find its pH using logarithm.

Watch Video Solution

[H + ] 9.2 × 10− 22

150. Choose the irrational numbers from the following given , 5,

5.75, 1.735, .............., sqrt8, sqrt4, sqrt16

Watch Video Solution

√2, √3

https://dl.doubtnut.com/l/_jDtWMMGAgIRd
https://dl.doubtnut.com/l/_sULys5dPZg9j
https://dl.doubtnut.com/l/_nDdzVcRIIhe6
https://dl.doubtnut.com/l/_ZMSUqUYeRxRm
https://dl.doubtnut.com/l/_4xNtYHDfbTN9


151. Define the irrational numbers. Give examples.

Watch Video Solution

152. Find the value of  upto 4 decimals.

Watch Video Solution

√2

153. Establish the relation between diagonal and side of a square.

Watch Video Solution

154. Is  a rational or irrational ? Give reasons.

Watch Video Solution

π

155. Write the differences between rational and irrational numbers.

https://dl.doubtnut.com/l/_4xNtYHDfbTN9
https://dl.doubtnut.com/l/_R2G043pgqgsu
https://dl.doubtnut.com/l/_8Kx9rJ8VclwQ
https://dl.doubtnut.com/l/_wo8C1iEegh4Q
https://dl.doubtnut.com/l/_Vl0Pj0x6zJE7


Watch Video Solution

156. Plot  on number line.

Watch Video Solution

√2, √3, √5

157. Show that  is irrational.

Watch Video Solution

√2

158. Where do we use irrational numbers in our day to day life?

Watch Video Solution

159. The number of prime factors of 36 is

A. 4

https://dl.doubtnut.com/l/_Vl0Pj0x6zJE7
https://dl.doubtnut.com/l/_K3uohiqVOmcG
https://dl.doubtnut.com/l/_EVlHltRtn4wf
https://dl.doubtnut.com/l/_4IVczoKC0nPx
https://dl.doubtnut.com/l/_WjtcOzFWLmnR


B. 3

C. 2

D. 1

Watch Video Solution

160. The exponential form of  is………….

A. 

B. 

C. 

D. 

Watch Video Solution

log10 0.001 = − 3

(0. 001)10 = − 3

( − 3)10 = 0.001

103 = − 0.001

10− 3 = 0.001

https://dl.doubtnut.com/l/_WjtcOzFWLmnR
https://dl.doubtnut.com/l/_sSw6tuJTDY6T


161. Which of the following is true for an irrational number? 

(i) Which can be written in the form of , where  


(ii) Which cannot be written in the form of , where . 


(iii) Non-terminating repeating decimals. 

(iv) Non-terminating, non repeating decimals.

A. (i), (iii)

B. (ii), (iv)

C. (i) only

D. (iii) only

Watch Video Solution

p

q
p, q ∈ Z, q ≠ 0.

p

q
p, q ∈ Z, q ≠ 0

162. Which of the following is not a rational number?

A. 

B. 

log10 3

5. ¯̄̄¯23

https://dl.doubtnut.com/l/_TE0eluaKX3SS
https://dl.doubtnut.com/l/_vKnYSvDvYmMF


C. 123.123

D. 

Watch Video Solution

10

19

163. LCM of 24 and 36 is……….

A. 24

B. 36

C. 72

D. 864

Watch Video Solution

164. The logarithmic form of  is……….ab = c

https://dl.doubtnut.com/l/_vKnYSvDvYmMF
https://dl.doubtnut.com/l/_65RoeWkN3mBg
https://dl.doubtnut.com/l/_Sc8fRfPF38TU


A. 

B. 

C. 

D. 

Watch Video Solution

loga c = b

logb c = a

loga b = c

logb a = c

165. If , then the value of x is ........

A. 0

B. 1

C. 6

D. 24

Watch Video Solution

3 log(x + 3) = log 27

https://dl.doubtnut.com/l/_Sc8fRfPF38TU
https://dl.doubtnut.com/l/_zU9UlbOoPj7u
https://dl.doubtnut.com/l/_xOf0exHNBBvH


166. Which one of the following rational numbers has terminating

decimal expression?

A. 

B. 

C. 

D. 

Watch Video Solution

11

7000

91

21000

343

23 × 53 × 73

21

9000

167. If  are two odd prime numbers, such that  then 

 is………….

A. an even number.

B. an odd number.

C. a prime number.

P1 and P2 P1 > P2,

P 2
1 − P 2

2

https://dl.doubtnut.com/l/_xOf0exHNBBvH
https://dl.doubtnut.com/l/_6Ew4Z1UTGbhh


D. an odd prime number.

Watch Video Solution

168. In the rational form of a terminating decimal number prime factor of

the denominator is……………….

A. only 2

B. only 5

C. 2 or 5 only

D. Any prime

Watch Video Solution

169.  value log10 2 + log10 5 = …………. .

https://dl.doubtnut.com/l/_6Ew4Z1UTGbhh
https://dl.doubtnut.com/l/_yNC2lILrZqy2
https://dl.doubtnut.com/l/_iiMGivO6N1vU


A. 1

B. 2

C. 5

D. 10

Watch Video Solution

170. If  then the value of x is

A. 9

B. 243

C. 81

D. 6

Watch Video Solution

log3 729 = x

https://dl.doubtnut.com/l/_iiMGivO6N1vU
https://dl.doubtnut.com/l/_0G49zJ6ev4NF
https://dl.doubtnut.com/l/_dr22CrbydhDp


171. The number of digit in the fractional part of the decimal form of 

is

A. 1

B. 2

C. 3

D. 4

Watch Video Solution

7

40

172. The exponential form of  is

A. 

B. 

C. 

D. 

loga√x4 = y

ay = x4

ya = 4

ay = x2

xy = a2

https://dl.doubtnut.com/l/_dr22CrbydhDp
https://dl.doubtnut.com/l/_K40jBOkjB3gS


Watch Video Solution

173. The last (unit place) digit of  in its standard form.

A. 6

B. 4

C. 9

D. 19

Watch Video Solution

62019

174. The decimal expansion of 0.225 in its rational form is

A. 225

B. 
225

102

https://dl.doubtnut.com/l/_K40jBOkjB3gS
https://dl.doubtnut.com/l/_KV1Zvv4u6YQ6
https://dl.doubtnut.com/l/_bj33gbhtKWR7


C. 

D. 

Watch Video Solution

225

104

9

40

175. Show that every positive even integer is of the form 2q, and that

every positive odd integer is of the form 2q + 1, where q is some integer.

Watch Video Solution

176. If , then  is

A. 5.301

B. 2.301

C. 1.505

D. 0.301

log10 2 = 0.3010 log10 32

https://dl.doubtnut.com/l/_bj33gbhtKWR7
https://dl.doubtnut.com/l/_4kE40z5of9Pq
https://dl.doubtnut.com/l/_Eg48ypgS9pFC


Watch Video Solution

177. If , then 

A. 4.81648

B. 1.50515

C. 9.63296

D. 9.0309

Watch Video Solution

log 2 = 0.30103 log 32 = ….

178. If , then 

A. 4

B. -4

log10 0.00001 − x x = ……

https://dl.doubtnut.com/l/_Eg48ypgS9pFC
https://dl.doubtnut.com/l/_IFhlTTgELXjI
https://dl.doubtnut.com/l/_rvdv9DHKV29Q


C. 5

D. -5

Watch Video Solution

179. If , then 

A. 2 or 3

B. 5 or 7

C. -2 or -3

D. 8 or-2

Watch Video Solution

loga a
x2 + 5x+ 8 = 2 x = ………

180.  then log3 x
2 = 2 x = ……

https://dl.doubtnut.com/l/_rvdv9DHKV29Q
https://dl.doubtnut.com/l/_VYXyZRKkST0w
https://dl.doubtnut.com/l/_uS4oKI6AU6Dn


A. 2

B. -2

C. 3

D. -3

Watch Video Solution

181.  =

A. 

B. 

C. 

D. 

Watch Video Solution

log9 √3√3√3

7
8

7
16

1

16

1

8

https://dl.doubtnut.com/l/_uS4oKI6AU6Dn
https://dl.doubtnut.com/l/_UaBKVQRvrgqr
https://dl.doubtnut.com/l/_KQu92ujbnbQT


182. Determine the value of the following 

A. 44262

B. 16

C. 2048

D. 136

Watch Video Solution

log8 128

183. Which of the following is an irrational number?

A. 

B. 

C. 

D. 

√12 × 3

√32 × 2

√35 + 14

√25 + 16

https://dl.doubtnut.com/l/_KQu92ujbnbQT
https://dl.doubtnut.com/l/_c8URsDi8oCo4


Watch Video Solution

184. The prime facrorization of 144 is

A. 

B. 

C. 

D. 

Watch Video Solution

42 × 32

16 × 9

12 × 12

24 × 32

185. L.C.M of the numbers  is

A. 

B. 

27 × 34 × 7 and 23 × 34 × 11

23 × 34

27 × 34

https://dl.doubtnut.com/l/_c8URsDi8oCo4
https://dl.doubtnut.com/l/_e38ky0txdHrJ
https://dl.doubtnut.com/l/_U0qUEXANGe5F


C. 

D. 

Watch Video Solution

27 × 34 × 7 × 11

23 × 34 × 7 × 11

186. The H.C.F of the number  is

A. 

B. 

C. 

D. 

Watch Video Solution

37 × 53 × 24 and 32 × 74 × 28

24 × 32

28 × 37 × 53 × 74

28 × 37

2 × 3 × 5 × 7

187. The decimal expansion of 0.225 in its rational form is

https://dl.doubtnut.com/l/_U0qUEXANGe5F
https://dl.doubtnut.com/l/_pwvzKxRqWNnG
https://dl.doubtnut.com/l/_Fss2TPZ8yrKc


A. 225

B. 

C. 

D. 

Watch Video Solution

225

104

225

102

9

40

188. Which of the following is a rational number ?

A. 

B. 

C. 

D. 

Watch Video Solution

√3

√5

√7

√9

https://dl.doubtnut.com/l/_Fss2TPZ8yrKc
https://dl.doubtnut.com/l/_VtofDxT70i1M
https://dl.doubtnut.com/l/_LA6OuAr53QAs


189. What is the L.C.M of greatest 2 digit number and the greatest 3 digit

number?

A. 

B. 999

C. 

D. 

Watch Video Solution

99 × 99

99x9 × 111

9 × 11 × 111

190. What is the H.C.F of  where n is a natural number?

A. n

B. n + 1

C. 

D. 1

n and n + 1

n/2

https://dl.doubtnut.com/l/_LA6OuAr53QAs
https://dl.doubtnut.com/l/_XEmj9FAyBFjB


Watch Video Solution

191. What is the L.C.M of least prime and the least composite number?

A. least prime least composite

B. 2

C. least composite.

D. 6

Watch Video Solution

×

192. The product of L.C.M and H.C.F of the least prime and least composite

number is

A. 4

https://dl.doubtnut.com/l/_XEmj9FAyBFjB
https://dl.doubtnut.com/l/_pbgHqgywsZqH
https://dl.doubtnut.com/l/_1bwpFzHPkf8J


B. 6

C. 8

D. 16

Watch Video Solution

193.  is divisible by 8, if n is

A. an odd number

B. an even number

C. prime number

D. integer

Watch Video Solution

n2 − 1

https://dl.doubtnut.com/l/_1bwpFzHPkf8J
https://dl.doubtnut.com/l/_ifqOcnMSKuvv


194. If x and y are any two co-prime, then their L.C.M. is

A. 

B. 

C. 

D. 

Watch Video Solution

x + y

x − y

x/y

x − y

195. If x and y are any two relative prime numbers, then their H.C.f is

A. x . y

B. x

C. y

D. 1

https://dl.doubtnut.com/l/_AdbsUJclXCYl
https://dl.doubtnut.com/l/_RWnP0FXtoUaZ


Watch Video Solution

196. If m and n are co-primes, then H.C.F of  is

A. m

B. 

C. 

D. 1

Watch Video Solution

m2 and n2

n2

m2

197. If n is a natural number, then which of the following expression ends

in zero?

A. 

B. 

(3 × 2)n

(5 × 7)n

https://dl.doubtnut.com/l/_RWnP0FXtoUaZ
https://dl.doubtnut.com/l/_QrciE800WtqX
https://dl.doubtnut.com/l/_gZrdBo7NttdZ


C. 

D. 

Watch Video Solution

(9 × 3)n

(2 × 5)n

198. The number of prime factors of 72 is

A. 12

B. 2

C. 3

D. 6

Watch Video Solution

199. How many prime factors are there in the prime factorization of 240?

https://dl.doubtnut.com/l/_gZrdBo7NttdZ
https://dl.doubtnut.com/l/_Dflhx3RxebsV
https://dl.doubtnut.com/l/_v0EhHKU5lA7N


A. 20

B. 5

C. 3

D. 6

Watch Video Solution

200. After how many places the decimal expansion of  terminates?

A. 125

B. 4

C. 8

D. 3

Watch Video Solution

23/125

https://dl.doubtnut.com/l/_v0EhHKU5lA7N
https://dl.doubtnut.com/l/_0rb3uL6DOYzF
https://dl.doubtnut.com/l/_kLCUsILATxQJ


201. After how many digits will the decimal expansion of 

terminates?

A. 5

B. 4

C. 3

D. Never

Watch Video Solution

11/32

202. p,q are co-primes and  where m>n , then the decimal

expansion of  terminates after ….places.

A. m

B. n

C. 

q = 2n.5m

p/q

m ⋅ n

https://dl.doubtnut.com/l/_kLCUsILATxQJ
https://dl.doubtnut.com/l/_JNG5Oam3Av9b


D. 

Watch Video Solution

m + n

203. The decimal expansion of  is

A. terminating

B. non-terminating & non-repeating

C. non-terminating & repeating

D. none

Watch Video Solution

9

17

204. The decimal expansion of  is

A. 

27
14

1. ¯̄¯̄¯̄¯̄¯̄¯̄¯̄9285714

https://dl.doubtnut.com/l/_JNG5Oam3Av9b
https://dl.doubtnut.com/l/_ywBL18ANf6S3
https://dl.doubtnut.com/l/_mdQXcFJB1lI8


B. 

C. 1.9285714

D. 

Watch Video Solution

1.9̄ ¯̄¯̄¯̄¯̄¯̄¯285714

0.19̄ ¯̄¯̄¯̄¯̄¯̄¯285714

205.  is a…… number.

A. prime

B. composite

C. irrational

D. rational

Watch Video Solution

5.67891̄

https://dl.doubtnut.com/l/_mdQXcFJB1lI8
https://dl.doubtnut.com/l/_iayG1Rkc2tI4


206.  is ………. Number

A. irrational

B. rational

C. composite

D. prime

Watch Video Solution

0.12  112  1112  11112…….

207.  is …….. Number.

A. natural

B. rational

C. whole

D. an irrational

√2 − 2

https://dl.doubtnut.com/l/_oPxTHCrnmHlR
https://dl.doubtnut.com/l/_WWMhLR0InvHi


Watch Video Solution

208.  is ……. Number.

A. composite

B. natural

C. negative

D. none

Watch Video Solution

3 × 5 × 7 × 11 + 35

209. The decimal expansion of  terminates after…… places.

A. 5

B. 6

C. 4

209

80

https://dl.doubtnut.com/l/_WWMhLR0InvHi
https://dl.doubtnut.com/l/_N5Pcmt96NfO0
https://dl.doubtnut.com/l/_BYnpt2cz3VE4


D. 9

Watch Video Solution

210.  is divisible by………

A. 7 or 10

B. 7 or 19

C. 17 or 79

D. 8 or 231

Watch Video Solution

7 × 11 × 17 + 34

211.  has……… decimal expansion.

A. Non-terminal

73
625

https://dl.doubtnut.com/l/_BYnpt2cz3VE4
https://dl.doubtnut.com/l/_3K21bR3jB1m8
https://dl.doubtnut.com/l/_xJl310IAMERI


B. Terminal

C. Non-terminating, repeating

D. None

Watch Video Solution

212. The number of prime factors of 1024 is…….

A. 12

B. 9

C. 7

D. 1

Watch Video Solution

https://dl.doubtnut.com/l/_xJl310IAMERI
https://dl.doubtnut.com/l/_A29kFHppDYdC


213. The decimal expansion of  is…….

A. 

B. 

C. 

D. 

Watch Video Solution

101

99

1. ¯̄̄¯02

1. ¯̄̄¯07

1. ¯̄̄¯39

4. ¯̄̄¯14

214. The period of the decimal expansion of  is……..

A. 917461

B. 904761

C. 940761

D. None

19

21

https://dl.doubtnut.com/l/_fGOZggmj43D9
https://dl.doubtnut.com/l/_id2D1fpJiWt9


Watch Video Solution

215. If a rational number  has a terminating decimal, then the prime

factorisation of q is of the form……….

A. 

B. 

C. 

D. 

Watch Video Solution

p/q

3m5n

3m

3m5n3p

2m5n

216. The prime factorisation of 20677 is……………

A. 

B. 

13 × 29 × 71

23 × 29 × 31

https://dl.doubtnut.com/l/_id2D1fpJiWt9
https://dl.doubtnut.com/l/_0IEAlvnhQcy1
https://dl.doubtnut.com/l/_6pc2fGdEamSf


C. 

D. None

Watch Video Solution

19 × 23 × 17

217. The LCM of 208 and 209 is………..

A. 

B. 

C. 

D. 

Watch Video Solution

208 × 109

19 × 218

104 × 20

208 × 209

218. The HCF of 1001 and 1002 is…….

https://dl.doubtnut.com/l/_6pc2fGdEamSf
https://dl.doubtnut.com/l/_rxG8dMHrwBRb
https://dl.doubtnut.com/l/_PkDQPh6wMain


A. 1

B. 7

C. 9

D. 11

Watch Video Solution

219. If  are co-primes then their LCM is……..

A. 

B. 

C. 

D. 

Watch Video Solution

P1, P2, P3, …. . , Pn

p3p5p7

p6p7.... pn

p1p2.... pn

p2p4.... pn

https://dl.doubtnut.com/l/_PkDQPh6wMain
https://dl.doubtnut.com/l/_zKHGCnVb4J98
https://dl.doubtnut.com/l/_UEGYAMgBpWvQ


220. If  are co-primes. In the above problem HCF is ...

A. 

B. 9

C. 1

D. 7

Watch Video Solution

P1, P2, P3, …. . , Pn

p1

221. The decimal expansion of  without actual division is…….

A. 0.4375

B. 4.375

C. 43.75

D. 0.0004375

7
16

https://dl.doubtnut.com/l/_UEGYAMgBpWvQ
https://dl.doubtnut.com/l/_UwrCM1jozJTa


Watch Video Solution

222.  is an ……. Number.

A. natural

B. irrational

C. rational

D. none

Watch Video Solution

0.3030030003…

223.  is……… number.

A. whole

B. irrational

C. rational

743.211111……….

https://dl.doubtnut.com/l/_UwrCM1jozJTa
https://dl.doubtnut.com/l/_DSTH5P6KPr2K
https://dl.doubtnut.com/l/_U9cpdZKIeToL


D. none

Watch Video Solution

224. The logarithmic form of  is………….

A. 

B. 

C. 

D. 

Watch Video Solution

122 = 144

log144 12 = 2

log12 144 = 2

log12 14 = 2

log7 14 = 2

225. 

A. 

log = ………
125

16

3 log 5 − log 4

https://dl.doubtnut.com/l/_U9cpdZKIeToL
https://dl.doubtnut.com/l/_a2sRRlIg6kTz
https://dl.doubtnut.com/l/_s23Vsr4YhyIW


B. 

C. 

D. 

Watch Video Solution

log 5 − log 3

3 log 5 − log 2

3 log 5 − 4 log 2

226.  in the expanded form is…………

A. 

B. 

C. 

D. None

Watch Video Solution

log
x2y3z4

w5

2 logx + 3 logy + 4 log z − 5 logw

logx + logy + 4 log z − 5 logw

2 logx − 3 logy − 4 log z − 5 logw

https://dl.doubtnut.com/l/_s23Vsr4YhyIW
https://dl.doubtnut.com/l/_sK7LyTyOzXML


227. Logarithmic form of  is…….

A. 

B. 

C. 

D. None

Watch Video Solution

192 = 361

log361 19 = 2

log19 361 = 2

log19 36 = 1

228. 

A. 

B. 

C. 

D. 

log 81 × 25 = ………. .

log 3 + log 5

3 log 3 + 5 log 5

log 3 + 5 log 5

4 log 3 + 2 − log 5

https://dl.doubtnut.com/l/_hOTcng1bAWwE
https://dl.doubtnut.com/l/_jI4QbHnAZpFZ


Watch Video Solution

229.  is .......... decimal.

A. terminating

B. non-termihating

C. non-terminating, repeating

D. none

Watch Video Solution

13

125

230.  is… decimal.

A. non-terminating, repeating

B. terminating

C. non-terminating

27
82

https://dl.doubtnut.com/l/_jI4QbHnAZpFZ
https://dl.doubtnut.com/l/_CzI4AdMhfLAz
https://dl.doubtnut.com/l/_CLu2pHVLirER


D. none

Watch Video Solution

231.  is…….. Number.

A. natural

B. whole

C. integer

D. an irrational

Watch Video Solution

√5 + √7

232. The expansion of  terminating after….. Places.

A. 6

87
625

https://dl.doubtnut.com/l/_CLu2pHVLirER
https://dl.doubtnut.com/l/_rgj4agXEqRBF
https://dl.doubtnut.com/l/_GYBMr8E8E0Ax


B. 4

C. 14

D. 9

Watch Video Solution

233. The expansion of  terminates after………places.

A. 9

B. 7

C. 3

D. None

Watch Video Solution

123

125

https://dl.doubtnut.com/l/_GYBMr8E8E0Ax
https://dl.doubtnut.com/l/_fgV4yKpSY7NZ


234. The decimal form of  repeats after……..places.

A. 16

B. 12

C. 7

D. None

Watch Video Solution

80

81

235.  is a……….decimal.

A. terminating

B. non-terminating

C. non-terminating, repeating

D. none

70

71

https://dl.doubtnut.com/l/_nV1To9WMMMYy
https://dl.doubtnut.com/l/_l87jJzJu8EPa


Watch Video Solution

236.  is a………decimal.

A. terminating

B. non-terminating

C. non-terminating, repeating

D. none

Watch Video Solution

123

125

237.  may certain the denominator when expressed in  form

is………..

A. 

B. 

14.381 p/q

83 × 63

123 × 43

https://dl.doubtnut.com/l/_l87jJzJu8EPa
https://dl.doubtnut.com/l/_7mn2Zk0vq1n1
https://dl.doubtnut.com/l/_EQlwWTPyYvBX


C. 

D. 

Watch Video Solution

23 × 53

73 × 83

238. 

A. 

B. 

C. 

D. 

Watch Video Solution

5√5 + 6√5 − 2√5 = ……. .

6√5

7√5

2√5

9√5

239. 9√2 × √2 = ………. .

https://dl.doubtnut.com/l/_EQlwWTPyYvBX
https://dl.doubtnut.com/l/_lnj9mw2AO2Uy
https://dl.doubtnut.com/l/_xsyaLaDHweU3


A. 16

B. 18

C. 19

D. 20

Watch Video Solution

240. 

A. 0

B. -1

C. 1

D. 7

Watch Video Solution

log10 10 = ………. .

https://dl.doubtnut.com/l/_xsyaLaDHweU3
https://dl.doubtnut.com/l/_1U7jZSddUExm
https://dl.doubtnut.com/l/_VFgXFuN7XRlc


241.  =

A. 4

B. 3

C. -1

D. 12

Watch Video Solution

loga 1

242. 

A. 7

B. 3

C. 4

D. 1

logb a. loga b = ………….

https://dl.doubtnut.com/l/_VFgXFuN7XRlc
https://dl.doubtnut.com/l/_xIrBJ1IPzHyT


Watch Video Solution

243. 

A. 1

B. -1

C. 0

D. not defined

Watch Video Solution

log1 1 = …

244.  =

A. 8

B. 6

C. 9

log10 0.01

https://dl.doubtnut.com/l/_xIrBJ1IPzHyT
https://dl.doubtnut.com/l/_r044taFgBHZt
https://dl.doubtnut.com/l/_cGViGri0j5Jj


D. None

Watch Video Solution

245.  = ..........

A. 1

B. 2

C. 9

D. 12

Watch Video Solution

log 2 + log 5

246.  then 

A. 9

16 × 64 = 4k k = ………….

https://dl.doubtnut.com/l/_cGViGri0j5Jj
https://dl.doubtnut.com/l/_tL1FI2rU2LtG
https://dl.doubtnut.com/l/_d3bas4AEzSmD


B. 12

C. 5

D. 19

Watch Video Solution

247.  is called……..property.

A. Associative

B. Identity

C. Inverse

D. Commutative

Watch Video Solution

a + b = b + a

https://dl.doubtnut.com/l/_d3bas4AEzSmD
https://dl.doubtnut.com/l/_1D9znhBWcxEP


248. 

A. 5

B. 3

C. 15

D. 12

Watch Video Solution

log5 125 = ………. .

249. Exponential form of  is………

A. 

B. 

C. 

D. None

log4 64 = 3

43 = 64

34 = 64

42 = 81

https://dl.doubtnut.com/l/_uDjx7ecPpJp2
https://dl.doubtnut.com/l/_DUFQIDGbLDL8


Watch Video Solution

250.  = .........

A. 

B. 

C. 

D. all the above

Watch Video Solution

log 15

log 5 + log 10

log 3 + log 12

log 5 + log 3

251.  is ........ number.

A. rational

B. an irrational

C. natural

1

√2

https://dl.doubtnut.com/l/_DUFQIDGbLDL8
https://dl.doubtnut.com/l/_8GkrEqSQOXlx
https://dl.doubtnut.com/l/_epNfaMcIDLFg


D. whole

Watch Video Solution

252. = ........

A. P

B. C

C. R

D. None

Watch Video Solution

Q ∪ Q'

253. …………… is called the additive identity.

A. 0

https://dl.doubtnut.com/l/_epNfaMcIDLFg
https://dl.doubtnut.com/l/_XrBGHijcCyN0
https://dl.doubtnut.com/l/_V6TBt6o436Os


B. 1

C. 2

D. None

Watch Video Solution

254.  then 

A. 2.42

B. 13.42

C. 42.42

D. 4.242

Watch Video Solution

√2 = 1.414 3√2 = ………

https://dl.doubtnut.com/l/_V6TBt6o436Os
https://dl.doubtnut.com/l/_kPoXApYLUW5U


255. 

A. 11.5

B. 0.115

C. 1.15

D. 115.1

Watch Video Solution

= …………
23

23.52

256. 0.9375 = ..........

A. 

B. 

C. 

D. 

15

16

5

16

16

15

18

1199

https://dl.doubtnut.com/l/_3kOXl3EB6et5
https://dl.doubtnut.com/l/_yVRZREvFwKvZ


Watch Video Solution

257. 

A. 4.12

B. 4.2

C. 0.42

D. 4.02

Watch Video Solution

4 = ……………
1

5

258. 

A. 

B. 

C. 

= ………….
5

11

0. ¯̄̄¯43

0. ¯̄̄¯44

0. ¯̄̄¯31

https://dl.doubtnut.com/l/_yVRZREvFwKvZ
https://dl.doubtnut.com/l/_nze2D9Ldduse
https://dl.doubtnut.com/l/_wX1GnQIIXKHG


D. 

Watch Video Solution

0. ¯̄̄¯45

259. LCM of 12, 15 and 21 is………

A. 420

B. 440

C. 820

D. 110

Watch Video Solution

260. 0.4 = ..........

A. 
2

5

https://dl.doubtnut.com/l/_wX1GnQIIXKHG
https://dl.doubtnut.com/l/_vmmkdhgsabQY
https://dl.doubtnut.com/l/_smyeiJaxC8Hd


B. 

C. 

D. None

Watch Video Solution

5

2

1

9

261. 

A. 

B. 

C. 

D. 

Watch Video Solution

√ = …………. .
4

9

3

2

2

3

√2

3

2

√3

https://dl.doubtnut.com/l/_smyeiJaxC8Hd
https://dl.doubtnut.com/l/_t0JTYHIptiiA


262. HCF of 12, 18 is…………..

A. 12

B. 9

C. 2

D. 6

Watch Video Solution

263. 

A. 240

B. 144

C. 140

D. 909

22 × 5 × 7 = ………

https://dl.doubtnut.com/l/_FTSgEGFgzWWu
https://dl.doubtnut.com/l/_12HNk2nvDofy


Watch Video Solution

264.  =

A. 

B. 2

C. 1

D. 0

Watch Video Solution

loga 1

a2

265. 

A. 15

B. 1

C. 5

log2015 2015 = ………. .

https://dl.doubtnut.com/l/_12HNk2nvDofy
https://dl.doubtnut.com/l/_mzdivVTZ6C6z
https://dl.doubtnut.com/l/_sFDHWguNRT0Q


D. 0

Watch Video Solution

266. Multiplicative inverse of  is……

A. 

B. 

C. 

D. 

Watch Video Solution

3
1

3

3
1

3

3

13

3

10

3

14

267.  is called…… property.

A. Associative

(ab)c = a(bc)

https://dl.doubtnut.com/l/_sFDHWguNRT0Q
https://dl.doubtnut.com/l/_UtB8qU0N6lv3
https://dl.doubtnut.com/l/_mfuc2JA0VLvN


B. Inverse

C. Identity

D. None

Watch Video Solution

268. 

A. 

B. 

C. 

D. None

Watch Video Solution

= ……….
41

75

42

3 × 52

41

32 × 52

1

3 × 52

https://dl.doubtnut.com/l/_mfuc2JA0VLvN
https://dl.doubtnut.com/l/_zGQ6LaGxe9Ws


269.  = .........

A. 4

B. 7

C. 1

D. None

Watch Video Solution

log 64 − log 4

270. LCM of 306 and 657 is……..

A. 22338

B. 23238

C. 11128

D. None

https://dl.doubtnut.com/l/_MW2PV77DJJC6
https://dl.doubtnut.com/l/_nwN59GuNJvNQ


Watch Video Solution

271. 

A. 1.675

B. 23.34

C. 81.45

D. None

Watch Video Solution

= …………
1167
50

272.  can not end with……….

A. 6

B. 0

C. 2

6n

https://dl.doubtnut.com/l/_nwN59GuNJvNQ
https://dl.doubtnut.com/l/_flASnXsM0URQ
https://dl.doubtnut.com/l/_cJzSeC3Kq312


D. None

Watch Video Solution

273.  = .........

A. 405

B. 54

C. 45

D. 55

Watch Video Solution

√2025

274.  = ........

A. 1325

55

https://dl.doubtnut.com/l/_cJzSeC3Kq312
https://dl.doubtnut.com/l/_iUBKs5EJBaFc
https://dl.doubtnut.com/l/_OzMvETaDI2sd


B. 1125

C. 3125

D. 1859

Watch Video Solution

275. 

A. 0.375

B. 3.75

C. 8.175

D. None

Watch Video Solution

= ………….
3

8

https://dl.doubtnut.com/l/_OzMvETaDI2sd
https://dl.doubtnut.com/l/_w2868htgLF1B


276. 

A. 1.414

B. 2.236

C. 1.73

D. 2.998

Watch Video Solution

√5 = ……….

277. 

A. 2

B. 8

C. 4

D. 12

log2 16 = …………

https://dl.doubtnut.com/l/_kMR2ltqZARW3
https://dl.doubtnut.com/l/_tFfU9xSbWH7T


Watch Video Solution

278.  = ........

A. 

B. 

C. 

D. None

Watch Video Solution

2 log 3 + 3 log 5 − 5 log 2

log
1125

32

log
125

23

log
1025

16

279. 

A. 16

B. 20

C. 19

log2 1024 = ……….

https://dl.doubtnut.com/l/_tFfU9xSbWH7T
https://dl.doubtnut.com/l/_loV3pNP2wHox
https://dl.doubtnut.com/l/_7T0F2BwnPFGe


D. 10

Watch Video Solution

280. 

A. 2

B. 16

C. 19

D. 12

Watch Video Solution

log18 324 = ……….

281. 

A. 3

log3 = ……. .
1

27

https://dl.doubtnut.com/l/_7T0F2BwnPFGe
https://dl.doubtnut.com/l/_mIW0gtdntSqw
https://dl.doubtnut.com/l/_BI3nQ7WRftp8


B. 6

C. -3

D. -7

Watch Video Solution

282. 

A. 12

B. 19

C. 7

D. 0

Watch Video Solution

log6 1 = …. .

https://dl.doubtnut.com/l/_BI3nQ7WRftp8
https://dl.doubtnut.com/l/_RPb9KdHUDxEN


283. 

A. 9

B. 6

C. 4

D. None

Watch Video Solution

128 ÷ 32 = .............

284. 

A. 4

B. 3

C. 2

D. None

log10 10000 = ……………

https://dl.doubtnut.com/l/_aUWl2feZGBX6
https://dl.doubtnut.com/l/_2xpYRVRflWcj


Watch Video Solution

285.  =

A. 

B. 

C. 1

D. 

Watch Video Solution

log27 9

3

2

2

3

1

2

286. =

A. 1

B. 10

C. 11

log7 7

https://dl.doubtnut.com/l/_2xpYRVRflWcj
https://dl.doubtnut.com/l/_Nx8EUUaFKXeL
https://dl.doubtnut.com/l/_Y1LGDaRcU3Ek


D. 12

Watch Video Solution

287. Expand form of log 1000 is

A. 

B. 

C. 

D. None

Watch Video Solution

3 log 2 + 3 log 5

2 log 2 + log 5

log 2 − log 5

288.  =..........

A. 

(logx) − (logy)
3

2

log
√x3

y2

https://dl.doubtnut.com/l/_Y1LGDaRcU3Ek
https://dl.doubtnut.com/l/_CGEC6fyRIitP
https://dl.doubtnut.com/l/_3a81yPGLIYcR


B. 

C. 

D. None

Watch Video Solution

log√
x3

y2

log
x3

y2

289. 

A. 3.1251

B. 1.15

C. 3.25

D. None

Watch Video Solution

= ……….
13

4

https://dl.doubtnut.com/l/_3a81yPGLIYcR
https://dl.doubtnut.com/l/_Rvh3e2TMkcl6


290. 

A. 12

B. 10

C. 9

D. 2

Watch Video Solution

(√7 + √5)(√7 − √5) = ...............

291. 

A. 

B. 

C. 

D. 

2√3 + 7√3 + √3 = ……………. .

110√3

7√3

9√3

10√3

https://dl.doubtnut.com/l/_5Tahx1rSw7TW
https://dl.doubtnut.com/l/_yd8iY9XthMHB


Watch Video Solution

292. 

A. 9

B. 10

C. 3

D. 12

Watch Video Solution

log2 512 = ……….

293. Logarithmic form of  is……….

A. 

B. 

C. 

ax = b

logb x = a

logx b = a

logb a = x

https://dl.doubtnut.com/l/_yd8iY9XthMHB
https://dl.doubtnut.com/l/_GCav2dRJaJTf
https://dl.doubtnut.com/l/_2Muf6WpAkRik


D. 

Watch Video Solution

loga b = x

294. 

A. 10009

B. 10090

C. 10000

D. None

Watch Video Solution

104 = ………. .

295. ………… has no multiplication inverse.

A. 
9

7

https://dl.doubtnut.com/l/_2Muf6WpAkRik
https://dl.doubtnut.com/l/_8XYgF1IF1kYA
https://dl.doubtnut.com/l/_HtlZ9FfeMJ3K


B. 

C. 

D. 0

Watch Video Solution

2

3

9

14

296. 

A. 101

B. -203

C. 302

D. 203

Watch Video Solution

| − 203| = ………….

https://dl.doubtnut.com/l/_HtlZ9FfeMJ3K
https://dl.doubtnut.com/l/_sgWG2B2g3ckZ


297. 

A. 6

B. 4

C. 2

D. None

Watch Video Solution

log3 = ……. .
1

9

298. HCF of 1 and 143=……….`

A. 1

B. 43

C. 34

D. 10

https://dl.doubtnut.com/l/_4bkpUdWwLKJn
https://dl.doubtnut.com/l/_qcTudTu8tFqS


Watch Video Solution

299. 

A. 

B. 

C. 

D. 

Watch Video Solution

a(b + c) = ………………

ab + c

bc + d

ab + ac

a + bc

300.  is called…………….

A. Inverse

B. Identity

C. Commutative

a + ( − a) = ( − a) + a

https://dl.doubtnut.com/l/_qcTudTu8tFqS
https://dl.doubtnut.com/l/_9nr7Kgn0DFgF
https://dl.doubtnut.com/l/_6PNhtUAHCHbX


D. None

Watch Video Solution

301. 

A. 

B. 

C. 

D. 

Watch Video Solution

log32 = ………
1

4

1

4

1

2

−
5

2

−
2

5

302. 

A. 2

log10 100 = ……………

https://dl.doubtnut.com/l/_6PNhtUAHCHbX
https://dl.doubtnut.com/l/_WEjibff1erFU
https://dl.doubtnut.com/l/_PdQsbNR1ZzKo


B. 6

C. 0.1

D. None

Watch Video Solution

303.  = ..........

A. 161

B. 122

C. 112

D. 113

Watch Video Solution

√12544

https://dl.doubtnut.com/l/_PdQsbNR1ZzKo
https://dl.doubtnut.com/l/_rjarzQyWUpNm


304. 

A. ab

B. 

C. 

D. 

Watch Video Solution

√a × √b = ……………

b√a

a√b

√ab

305. Which of the following is a correct one?

A. 

B. 

C. 

D. All the above

N ⊂ Z ⊂ W

N ⊂ W ⊂ Z

R ⊂ N ⊂ W

https://dl.doubtnut.com/l/_N9H0dRBsksNK
https://dl.doubtnut.com/l/_ND8PWdnxeogA


Watch Video Solution

306. =….

A. 

B. 

C. 

D. None

Watch Video Solution

logx( )
a

b

logx a − logx b

logx a + logx b

logx ab

307. The rational number in between  is………

A. 

B. 

C. 

and √1
1

2

9

4

3

4

5

4

https://dl.doubtnut.com/l/_ND8PWdnxeogA
https://dl.doubtnut.com/l/_5ZkdavXLk1nn
https://dl.doubtnut.com/l/_IJyb5zLpNV0k


D. 

Watch Video Solution

7
4

308. Set of Rational and irrational numbers are called…….

A. Real numbers

B. Natural numbers

C. Whole numbers

D. Integers

Watch Video Solution

309. If  then ………….

A. 25

2x = y and log2 y = 3 (x − y)2

https://dl.doubtnut.com/l/_IJyb5zLpNV0k
https://dl.doubtnut.com/l/_EXkJV8LkMHFp
https://dl.doubtnut.com/l/_GltuuwcoMljh


B. 3

C. 8

D. not sure

Watch Video Solution

310. log form of  is………..

A. 

B. 

C. 

D. 

Watch Video Solution

35 = 243

log3 243 = 5

log5 243 = 3

log243 3 = 5

log243 5 = 3

https://dl.doubtnut.com/l/_GltuuwcoMljh
https://dl.doubtnut.com/l/_6cltGftAGeLW


311. The symbol of "implies" is…….

A. 

B. 

C. 

D. 

Watch Video Solution

⇔

⇒

∀

∃

312. The prime factorisation of 729 is……….

A. 

B. 

C. 

D. 

36

35

34

38

https://dl.doubtnut.com/l/_fBtB02QFUgp0
https://dl.doubtnut.com/l/_PWp8sid5gupm


Watch Video Solution

313. If 'x' and 'y' are two prime numbers then their HCF is………….

A. 0

B. 1

C. xy

D. x+y

Watch Video Solution

314.  =

A. -1

B. 1

C. -2

log10 0.01

https://dl.doubtnut.com/l/_PWp8sid5gupm
https://dl.doubtnut.com/l/_6aBkiiWKmJgx
https://dl.doubtnut.com/l/_DmLPkwjrh2RE


D. 2

Watch Video Solution

315. The number of odd numbers in between '0' and 100 is……………..

A. 100

B. 51

C. 49

D. 50

Watch Video Solution

316. The exponential form of  is

A. 

log4 8 = x

x8 = 4

https://dl.doubtnut.com/l/_DmLPkwjrh2RE
https://dl.doubtnut.com/l/_kfMFiqUrH7BQ
https://dl.doubtnut.com/l/_G0n8LPnV0vAS


B. 

C. 

D. 

Watch Video Solution

x4 = 8

4x = 8

8x = 4

317. The valiue of  in decimal form is………

A. 0.03.6

B. 0.36

C. 0.0036

D. 3.6

Watch Video Solution

36

23 × 53

https://dl.doubtnut.com/l/_G0n8LPnV0vAS
https://dl.doubtnut.com/l/_wcFRDeG4qvZ3


318. LCM of two numbers is 108 and their HCF is 9 and one of them is 54,

So the second one is………

A. 9

B. 18

C. 6

D. 12

Watch Video Solution

319.  is…………….

A. non - terminating decimal

B. terminating decimal

C. non-terminating, repeating decimal

D. none

3

8

https://dl.doubtnut.com/l/_HOfOUNdJML4F
https://dl.doubtnut.com/l/_C1RTm2gk0Opi


Watch Video Solution

320. If , then………….(a,c are positive integers)

A. a = 1

B. a = c

C. 

D. a = -1

Watch Video Solution

a√c = √ac

321. 

A. 

B. 8.1

9 − 0. 9̄ = …………

8. 1̄

https://dl.doubtnut.com/l/_C1RTm2gk0Opi
https://dl.doubtnut.com/l/_tpSPOGzfpHIb
https://dl.doubtnut.com/l/_QFSvqkEpKi8E


C. 

D. 

Watch Video Solution

0. 1̄

https://dl.doubtnut.com/l/_QFSvqkEpKi8E

